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Ex. 1 In the following alphabet series, which letter is eighth to the left of sixteenth
letter from the right end 7
A BCDEFGHIJEKLM
N OPQRSTUVWIXY?Z
{a) B b 5 e} C dH | (e X
Sol. “Counting from the right end of the given alphabet series ie., from Z, the
sixteenth letter iz K. Counting from K towards the left, the eighth letter is
C. Hence, the answer is (c).

Ex. 2 If the fnllhrwiug alphabet series is written in the reverse order, which letter
will be fifth to the left of the fourteenth letter from the left ?

A BCDEVFGHIJHKLM
N OPQ RSTUDVW X Y Z
{a) R By I e) 8 (d) H ey v
Sol. The new alphabet series obtained after reversing the order of alphabets is :
ZYX W VUTSREGQZPON
ML KJI HGT FETDTG CEB A

Counting from the left end in the above series i.e., from Z, the fourteenth
letter is M.

Counting from M towards the left, the fifth letter s R.
Hence, the answer is (a).
Ex. 3 How many [¥s are there in the following series which are immediately followed
by W but not immediately preceded by K 7
KEDCWEDWNEGDWWDHEVDWIDW
{a} One (b} Two (c) Three (d} Four () Nil
Bol. Clearly, I's satisfving the given conditions can be marked as under :
KDCWHDWHKG[EWWDHK?@WZEI]W
Henee, the answer ig (¢).

| EXERCISE 10G |

Directions : Each of the following questions is based on the following
alphabet series.
ABCDETFGHIJELM
NOPQRSTUVWXYZ
1. Which letter is exactly midway between H and 8 in the given alphabet ?

{x) L ih) M e} N id) O (e} No such letter
(S.B.LP.O. 1994)
2. In the English alphabet, which letter will be to the immediate left of M 7
fa} N ) L ey O d) K (e) None of these
3. Which letter is sixteenth to the right of the letter which is fourth to the left of I 7
(a) 8 T ey U d) V (e Y
4. Which alphabet comes immediately before the sixth alphabet from the left
extreme of the given alphabets ? (L.LC. 1994)

(a) E nF (e) G dy U (e) V
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Reasoning
Which letter is the seventh to the right of the thirteenth letter from your left 7
ia) § (hy T ey v d) v " {e) None of these

(Bank P.O. 1893)

Which letter will be the sixth to the right of the eleventh letter from the right
end of the alphabet ?

fa} K IR ich J ) u {e) None of these
Which letter is seventh to the right of the eighteenth letter from the right end
of the alphabet ? (B.S.RLB. 1905)
(o) K by O ) P d) R (e) None of theae

If the above alphabet are divided in two equal halves — from A to M and N to

Z, which letter in the later half would be corresponding to the letter J 7

o) Q@ bV e} X dy W {e) Mone of these
(Bank P.0. 1983)

Which letter is midway bet.waen 22nd Ietter from the left and 21st letter from

the right * (Bank P.0., 1985)

{a) L b M e) O Id} P ie) None of these

If the above alphabet is written in the reverse order, which will be the eighth

letter to the right of O 7

{a) F by G ey Vv ) W (e) None of these

If the above alphabets were written in the reverase order, which will be the fifth

letter to the left of the ninth letter from the right 7

a} P it N e D (o) W e} M

If the given alphabet is arranged in reverse order, which letter will be the eighth

letter to the left of the seventh letter counting from the right end 7

(@) N (h) O ) P id) @ () None of these
(Bank P.0O. 1882)

If the above alphabet are written in the reverse order, which letter will be

twelfth to the left of the sixteenth letter from your left ?

{m) D (B V () W d) X {e) None of these

If the given sequence of letters is written in a reverse order, which of the following

will be the seventh letter to the left of eighth letter from your right ?

(e} L i M ed O d) P {e) None of these
{Bank P.0. 1985)
Which letter should be ninth letter to the left of ninth letter from the right, if
the first half of the given alphabet is reversed ? (U.T.L 1983)
() D it E ) F a1 {2) None of these

If every alternate letter starting from B iz deleted from the given alphabet,
which of the following will be the tenth letter from the right end 7
a) G k) D erQ (d) H ie) None of these
{Bank P.0. 1985)
Write the above English alphabet in reverse order. First cancel every second
letter and then select that letter which divides the remaining letters of the
alphabet in two squal parts. This letter is :
e} L b M el N id) P ie) None of these ~
If the letters of the given alphabet interchange positions, so that A takes the
place of 2 and Z takes the place of A: B takes the place of Y and ¥ takes the
place of B and so on, what will be the thirteenth letter from the right 7

{a M ih N {e) O id) L () None of these
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19. If the alphabet iz written in the reverse order and every alternate letter starting
with Y is dropped, which letter will be exactly in the middle of the remaining
letters of the alphabet 7 (Bank P.0. 1896)
(@) M by N ) O d) M or O {e) None of these

20. In the given alphabet, starting from the fifth letter from the left, if twelve letters
are written in reverse order, then which letter will be the seventh to the left of
the fourteenth letter from the right ? (Bank P.O. 1994)
fa) H b L fe) M idY N (e} None of these

21. If the second half of the given alphabet is written in reverse order, which letter
will be seventh to the right of the twelfth letter from the left end 7

a) R h) 8 ey U {d) V {e) None of these
22. Which letter should be fourth to the left of twelfth letter from the right if the

second half of the given alphabet is reversed ? (Bank P.0. 1883)

a) d b K “fed L id) M (e} None of these

23. If the first and the second letters interchange their positions and similarly the
third and the fourth letters, the fifth and the sixth letters and so on, which
letter will be the seventeenth from your right 7
(a) F by H ) 1 ) d {e) None of these

24. If the first ten letters of the given alphabet are written in the reverse order,
which of the following letters will be the seventh to the left of the twelfth letter
from the right end 7 (Bank P.0. 1984)
(a) B {by C e} H () 1 {e) None of these

25. If every alternate letter starting from B of the given alphabet is written in small
letters, rest all are written in capital letters, how will the month of ‘September’

be written 7 (Bank P.0. 1985)
{a) SEpteMbeR (b} SEptembER (e} ePTemBeR
id) SEptEMbEr {e) None of these

26. If the alternate letters in the given alphabet starting from A are written in
gmall and rest all in capital letters, which of the following will represent the

third month after July ¥ {Bank P.0. 1985)
{a) OCTOBER by OCLObEr ()} oCtObEr
{d} ecToBeR (e} None of these

27. If every even letter begirning from B is replaced by odd number beginning with
3, which letter/number will be the third to the right of the tenth number/letter
counting from your right 7 {Bank P.0. 1996)
{a) M by 8 fch 11 id) 23 ie) None of these

28. Which letter will be sixth to the right of the third letter from left of the letter

" which is exactly in the middle of the letters in the seriez given below 7

A B CDEZYXWVQRST
U F G HTIJEK M N OFP A (Bank P.0. 1886)
w) F By G ch () R {e) None of these

29. Which is the letter as far from the first letter of the alphabet given below as
the letter C is from the letter midway between K and R in ‘QUICKSILVER' ?

fa) C by D e) F (d} J ey V

herse is ofly for reference.Itr may "x-'a'_",' the Drigina.
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80. How many A's arc there in the following series which are immediately followed

by B as well as immediately preceded by Z ? {Bank P.0. 1883)
AMBEZANAABZABAZBAPZABAZARB

{a) Nil (b) One (e} Two id)} Three {e) More than three

31. In the following list of letters, how many O's are followed by @'s but not preceded

by D's ? (C.B.L 1999)

DOQODQODODQDOQDSDQFP
0QDSSSDOQOQDOQDDDOGQ
(o) O by 1 {c) 2 id) 3
32. How many T's are there in the following sequence which are immediately pre-
ceded by P but not immediately followed by 8§ 7 {Bank P.O. 1985)
STPQTSPTRPTSERPSTQPTRPTMPTS
() Mone (b) One {e) Two {d) Three (e} None of these
33. In the following series, count each N which is immediately followed by X but X is
not immediately followed by T. How many such N'& are there 7 (R.B.1L. 1980)
NXNT@QMNXTMIEXENXCNQMNNIXQNIXTXNAMXN
XM

fa) 2 (b) 4 (c) B dy 7 {e) 9
4. In the following letter sequence, how many n's are followed by m but not preceded
by h? {8.8.C. 1096)

agrhtonombecnonmlbuvomherh
nmgfehnmeecnmwganmbhlhb

{a) 4 ib) 5 (c} 8 td) 7
Directions (Questions 35 to 38) : Study the letter series given below and
answer the questions that follow : | ' (Hotel Management, 1992)

HDYSMWNBQPOCRTBLEVEGTUF
35. Which is the only letter that ecccurs twice 7

(@) B b E - e M (d) 8

38. Which two neighbours in the given arrangement are farthest in the alphabetical
order 7
{z) B and @ ) D and ¥ ic) Uand F (d)V and E

37. Which letter has the same neighbours as in the alphabetical order although
they have changed places ?
(a}) M by N ()0 d) P

38. Which three letters have the same distance as they have in the alphabetical
order although they have changed places ?
(z) HMP (b) NQZ (c) QUE (d} YLF

ANSWERS
L {e) : There are ten letters between H and 8 and as such, there is no letter which lies
exactly in the middle.
2. by : Clearly, L is the letter to the immediate left of M.
8. () : Clearly, the fourth letter to the lefl of I is E. The sixteenth letter to the right of E
is U,
4. (a) : The sixth letter from the left is F. E comes immediately before F.

Information Provided here is only for reference.It may wvary the Origina.
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5. (b) : Counting from the left ie, A in the given alphabet, the thirteenth letter is M. Counting
from M towards the right, the seventh letter is T.
6. (b) : Counting from the right in the given alphabet series i.e., £, the eleventh letter ia P.
The sixth letter to the right of P is V.
7.{e) : Counting from the right in the given alphabet series ie, from Z, the eighteenth
letter is 1.
The seventh letter to the rdght of I is P.
8. i) : J is the tenth letter in the first half
The tenth letter in the later half is W.
8. (e} : 22nd letter from the left is V. 21st lotter from the right is F.
The letter midway between F and V is N,
10. (B} : The new alphabet series is . | w[adad
ZYXwvouorT X

8
MLEJIHGTF
Clearly, the eighth letter to the
1L (8) : The new alphabet series is :
ZYXWVUTS P
MLEJIHGFETDC
The ninth letter from the right is L
The fifth letter to the left of I is N,
12. ib) : The new alphabet series is as shown in Selution 11.
Counting from the right, the ssventh letter is .
The eighth letter to the left of G ia O
13. i) : The new alphabet series is as shown in Solution 11.
The sixteenth letter from the left 1 K.
Counting from K towards the left, the twelith letter is W,
i 14. (¢} ; The new alphabet series is as shown in Selution 11,
The eighth letter from the right is H.
The seventh letter to the left of H is O
15. (b) : The new alphabet series is :
MLEKJIHGFETDTC
NOPQRSBSTUVWX
The ninth letter from the right is R,
The ninth letter to the left of R is E.
16. (2} : The new alphabet series ia :
ACEGIEKEMOQSUWY
The tenth letter from the right is G.
17. {c) : The new alphabst serieacia :
ZYXWVUTSRQP
MLEJIHGFETDTC
Cancelling every second letter, the ahove
ZXVYVTRPNLJHFDE
The middle letter is M. .
18. {a} : The new alphabet series is :
ZYXWVYUTSRQPON
I MLEJIHGFEDTCEA
Counting from the right in the sheve se

B A
Y2

ries f.e,, A, the thirteenth letter is M

#He: ;.Ih# Information Prowvided here is -:pr.-li' for reference.It may x-'.l'_"_; the ':ltli';i ]
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19, (b) : Same as Solution 17.
| 20. (e} : The new alphabet series is :
ABRBCDPONM
| G FEQRSTU
The fourteenth letter from the right is
I The seventh letter to the left of H is O.
21.ic) : The new alphabetl series is :
| ABCDEFGHIJK
ZYXWVUTSRAQP
| The twelfth letter from the left is L.
The seventh letter to the right of L is U.
| 22, (b) : The new alphabet series is as shown in Selution 21.
The twelfth lotter from the right is Y.
; The fourth letter to the leftgb-V is K.
| 28. (e} : The new alphabet series ia :
BADCFEHGGIILEN
) MPORQTSVUIXIWEIZY
| The seventeenth letter from the right is L
24. (b} : The new alphabet series is :
I JIHGFEDCBAEKLM
| NOPQRETUVWIYZ
The twelfth letter from the right is O,
' The seventh letter to the left of O is C.
) 25, (d) : The new alphabet series is :
| AbCAdEffGhIjKIM
n O pQ@rBtUvWix¥a
| Clearly ‘SEPTEMBER’ will be written as ‘SEptEMbEr’.
28. (d) : The new alphabet series is :
aBeDeFgHidJkLm
| NoPaqRsTuouVwXy?8l
The third month after July is October,
| Clearly, "OCTOBER' will be written as ‘ocToBeR'.
27.(e) : The new series is :
A 3C B ET7T G99 1 11KIi1ZM
| 150 17 Q 19 5 21 U 23 W 25 Y 27
Counting from the right, the tenth character is Q.
The third character to the right of Q is 21.
28. (h) : Tha letter in the middle of the given series is T. The third letter to the left of T
is Q. ; .
[ The sixth letter to the right of @ is G.
29. (d) : The letter midway between K and R in ‘QUICKSILVER' is L. In the alphabet, L is
) the ninth letter after C. Similarly, J is the ninth letter from the first letter of the
i alphabet, which is A
30.6): AMBZANAABI[A|BAZEBAPE[ABAL[A]B

| 8l.Liey: DOQODQODODQDOQDSDQP[0]
QDs sspoqfdJ]aqpoqgDpDDOGQ
s2.¢d): STPQTSPTIRPTSRPSTQPMRP[TMPTS

LEKdJI
VWIXY
H.

LM
oN

i i \

r The Information Provided here is only for reference.It may wvary the Origina.
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83, (b)

84. (b):

35. (a)
36. (&)

37 (d)

a8, id)

: NXINTQMNXTMZIX[NJXcNQM
NINNJXQNXTXNAMX[NXM

ag rhtimbemmilb uvalmher

hnmpgfeh nmuc@qun@mh]h

: Clearly, B occurs twice.

: Clearly, D and Y are neighbours in the given series and are separaled by the max-
imum number of letters i.e, 20 in the English alphabet.

: P has O and Q as its neighbours in the given serics as well as in the English
alphabet. .

: There are 12 letters between L and Y and 5 letters between F and L in the given

seriea as well as in the English alphabet.

Ex. 1.

Sol.

Ex. 2.

Sol.

Ex. 3.

Note :

TYPE 5 : WORD FORMATION

Select the combination of numbers so that letters arranged accordingly will
form a meaningful word.

VARSTE

1 2 3 4 6 6
(a) 2, 3, Lfﬁf 45 (b)4,5,2,3,1,6 {(c)6,3,4,5 2 1 (d)3, 2. 4,6,6,1
Clearly, the given letters, when arranged in the order 4, 5, 2, 3, 1, 6 form
the word ‘STARVE'". Hence, the answer is ().
If it iz possible to make a meaningful word with the second, the sixth, the
ninth and the twelfth letters of the word ‘*CONTRIBUTION’, which of the
following will be the last letter of that word ? If more than one such words
can be made, give M as the answer and if no such word is there, give X as
the answer.
(a) N (b O )T (d) M (e} X
The second, sixth, ninth and twelfth letters of the word ‘CONTRIBUTION
are O, [, T and N. Clearly, only one word can be formed using these letters,
which is INTO,
The last letter in INTO is O,
Hence, the answer is (b).
Choose one word out of the given alternatives, which cannot be formed from
the letters of the word CONSULTATION.
{a) CONSTANT (b) NATION ic) SALUTE (d) STATION
Carefully looking at the words, we find that the word ‘CONSULTATION
does not contain the letter E. So, the word ‘SALUTE’ cannot be formed.
Henee, the answer is {¢).

In such type of questions, remember that each letter in the given word is to
be used only once.

| EXERCISE 10H |

Directions (Questions I to 40) : In each of the following questions, a group
of letters is given which are numbered 1, 2, 3, 4, 5 and 6. Below are given
four alternatives containing combinations of these numbers. Select that com-
bination of numbers so that letters arranged accordingly, form a meaningful

word.

y vary the Origina



2

B.

('

B.

11.

12.

13.

14.

a "
= i

| &<

w !
L
=

&

T

_..
P N TR - e - R e B R

P wEHfer et e g P rfo el YRy P ugfep om0
2 'S
e =
o
T
@

L
oW Z

~.. -.. v
Bame 8 ©

= rN
mmmu £ ] e
[ R
R ;
FZrnr moeprpa®zedE

_. -.. r
& 0" h_rﬁ'
oom

T o en

AR ERNE eI AN O P

,_.
n

&
o
.o

e

Lo
m

B 0

Lo
=

- 2

£

s

Ea

o S
m“ﬂm“"Zm“'C:mmﬁ'm“h'mt"

g--Hg-WE-ME~“Eg~OE~ RE~RE~OE~ Qg Zg~bg~>*rg~"-

,.,
"

w

-h\ﬂim

u
&
1
B
&
3
G
[
1
H
[+
2
A
6
. 1
N
L]
L]

=

131

®)4.2,5,3,1
(6)2,6,1,4,5, 3
®1,3,26 45
$)2,3,5.4,6,1
()6, 3, 4,1, 5, 2
(b) 6, 4, 3, 5,2, 1
6) 1,2, 4,5,6, 3
(B) 5,3, 4,1, 2

(b) 5, 6,4, 1,3 2
(58, 3,5 24,1
(b) 3, 1,6,4, 5, 2
by 2 3,6, 4,51
(b) 3,2, 4,8, 5, 1

(b6, 1,5,3, 4, 2

b d, 22 1,5

fce) 4, 3,66 1,2

{e) 6, 3,5 1, 4,2

(eh 4,6 2,5 3,1

e} 5,2,1, 4,3, 6

) 3,5 2, 4,6, 1

fc) 6, 5, 3, 2,4, 1

3,2, 4,5 1

ic) 4,6, 5 2,3, 1

) 3,56 4,1,2

i1 4,5,6,3,1,2

{E} E'1 :]1 21 ‘: ﬁr 1

) 4,3,5 1,6, 2

)3, 1,65, 2 4

Reasoning

{(Railways, 1995)
d) 53214

d 6,32 1,45
(di 6,3, 1,542
(d) 6,5 23,1, 4
(d) 2,6, 1,4, 88
d) 5, 4,3,2861
d) 3,24, 1,85
{d14,6,3 21

{d) 5,23, 1,864
(d) 2,6 8, 4,1, 6
d) 2 1,6,3,.5, 4
id)3.5,2,6 4,1

d) 5,3, 2,461

d)6. 3,1, 4,2, 6

'
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ib) 6, 1,6 2, 4.3

16

6, 3

1,6

6, 1

5, a

5,1

b

3.1

(b} 273, 1,6, 4,6

() 3, 4,611,256
(e) 4,5,3,6,2,1
€ 3,2,1,5 4
.54

ic) :3, 4 =E, 1,26
ic) 3,6,2 4,61
e} 5, 4,3, 6 2,1
) 2, 4,6, 1,3, 6
c) 5,6, 4,1, 8 2
c) 3,2, 4,65,6 1
)3, 4,5 2,1, 6
)4, 5,2 3, 6,1
) 6, 2, 3, 4,1

e} 5,3,6, 4, 2,1

icy5, 2,6, 4,1, 2

()2 4,3861,5
id) 4,861,352
(@)4,3,2 1,6
(Railways, 1995)
4,5 1,236
@) 1,54,263
() 4,538 21
d3,4,21,86,5
(d) 6,5, 3,2 4, 1
(d) 4.2 8,65, 1
(d) 1,624,653
d) 3, 2,6.5 4,1
)5, 1,234
(d)6, 8 1,425

(d)6,3,6,1,4, 2
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EHNTOR
1 23 45 8
@25, 3,4, 1,6 (b)4,2,6,5,3,1 ()2,5,6,3, 1,4 (d14,25,86,3,1
JCOPTER
12 3465 67
{a) 1,3, 4,5,6,7 2 (6)2,8,4,5,1,8,7
e} 7,6,4,51,3, 2 d)4,7,3 1,625
ACPETS
1 23 458 (Railways, 1895)
(@1,6,3 425 (b)2,3,4,1,5,6 (56,3 4,1,2 (6,53 4,21
RTANTUTE
1 23 4658
(@)1,8,2, 6,45 ()3,2,4,6,1,5 ()4,3,2,5,1,6 (d)14,65,23,1
INETOC
12 345 6
(@2 54,1,6,3 ()3,6,4,1,2,5 ()4,8, 6,52 1 (d)6,52,3,4,1
TPSLOI
12 3 458
(@) 4,625,831 (62,565,436 1 (2,63 1,64 (d3,6,4,25,1
MFIANE
1 234 56
(@ 1,6,23,4,5 ()2, 4,1,3,5,6 ()5,6,2,3,1,4 (d4,23,1,65
NAEHLD
1 2 3 458
(@) 2,6, 43,5 1 (b)4,2,1,6,5,3 (4,3, 65,2 1 (d)21,6,4,3,5
ETCKOP
12 34 58
(@)3,1,4 56,2 (6)8,5,3,4, 1,2 ()21,6,5 3,4 (41,2358
ELGNIM
1 23 465 68
(@) 6,5 4,3,2,1 (0)3,1,2,6,54 (6,53,2 1,4 (d)3,56,21,4
DAIMEN
1 234 58
(@) 1,5,4,2,3,6 ()4,5,1,2,36 ()4,2,3,1,5,6 (d1,2586 34
RESTLU
1 2345 8

@) 3,4,6,1,2,6 (b)4,5,3,2,6,1 ()5, 6,3,4,1,2 (d)6,5,2,1,4,3
Which one word can be formed from the following letters ?

aadefgrsau {C.B.L 1988)
{a) stagnation (b) safeguard (c) pseudo-grade {d) grandson
Which one word can be formed from the following letters 7
aabcillnooort : (C.B.L 1993)
{a) collapsible (b} locomotive () colourfulness {d) collaboration

Provided here is anly for
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The letters of the word NUMKIFP are in disorder, If they are arranged in proper

order, the name of a vegetable is formea. What is the last letter of the word so

formed ?

a) K by M (e) N id) P ey U

l_fﬁjr arranging the letterz of the word NABMODINT, the name of a game is

formed, what are the first and the last letters of the word so formed ?

@B, T (b} B, N (e} N, D (d) A, T ey M, T

If a meaningful word can be formed by rearranging the letters USCALA, the

first letter of the word so formed iz the answer. If no such word can be formed,

the answer is X. _

{a) C s ey A {a) L ey U

If it is possible to form a word with the first, fourth, seventh and eleventh letters

in the word ‘SUPERFLUOUS', write the first letter of that word. Otherwise, X

is the answer, .

(a) 8 (b) L ey O (d) E @ X

If you pick up from the following alphabet, the sixth and the fourteenth letters from

your right and then pick up the fifth and twentieth letters from your left and form

a meaningful word, what is the first letter of that word 7 (Bank P.0O. 1996)
ABRCDEFGHI! J KLM
NOPQRSTUVW XYZ

{a) M b E {c) No word can be formed

{d) More than one word can be formed {e) None of these

If with the third, fourth, fifth, seventh and tenth letters of the word ‘PERSONALITY,
a meaningful word is formed, then first letter of the word is the answer. If no '
word is possible then X is the answer.

(a) O by T ) R id) 8 e} X

If it is possible to thake a meaningful word with the third, fifth, eighth and tenth
letters of the word ‘DISTRIBUTE', which of the following will be the third letter
of that word ? If no such word can be made, give X as the answer and if more
than one such word can be made, give M as the answer. (Bank P.(. 1995)
(a) 8 (b) R (c) E d) X e} M

If we make a meaningful word with the first, fourth, ninth and fourteenth letters
of the word 'ADMINISTRATION", which of the following will be the third letter
of that word from the right end of that word ?

{a) A (b)) I (cd N d) R (e} None of these

If it is possible to make a meaningful word with the second, the fifth and the
eighth letters of the word ‘CARETAKER', which of the following will be the first
letter of that word ? If no such word ean be made, give X as the answer. If more
than one such word can be made, give M as the answer. (Bank P.0O. 1884)
(a) A ib) E ed T d) X (e} M

. A meaningful word sturtin'g with A is made from the first, the second, the fourth,

the fifth and the sixth letters of the word ‘CONTRACT'. Which of the following
is the middle letter of the word ?

{a) C [{ N ] c) R d) T (e} None of these
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A meaningful word is made if we take the first, fourth, fifth, seventh, tenth,
eleventh and the twelfth letters of the word ‘FELICITATIONS'. Which of the
following will be the fifth letter of that word from the right end of that word ?
{a) T by C e} N {d)y 1 {e) None of these
(0.T.L 1993)
If it is possible to make a meaningful word with the fourth, the eighth and the
tenth letters of the word ‘COUNTERACT", which of the following will be the
last letter of that word ? If no such word can be made, give X as the answer.
If more than one such word can be made, give M as the answer.
() A (b) N ey T d) X ey M
If it is possible to make a meaningful word with the first, the fourth, the seventh
and the eleventh letters of the word INTERPRETATION', which of the following
will be third letter of that word 7 If more than one such word can be made,
give M as the answer and if no such word can be made, give X as the answer,
(a) 1 b) R e} T (d) X (e} M
(B.B.LP.O. 18%7)
If it iz possible to make a meaningful word out of the second, the fourth, the
fifth and the eighth letters of the word ‘ILLOGICAL’ then which of the following
will be the third letter of the so formed word ? If more than one word can be
formed then give X as the answer. If no meaningful word can be formed, then
give Z as the answer. . (L.LC. 1984)
(o) A b) G (c) O {d) X {e) Z
If it is possible to make a meaningful word with the second, the fifth, the tenth
and the twelfth letters of the word ‘'METROPOLITAN', which of the following
will be the third letter of that word 7 If no such word can be made give X as
the answer and if more than one such word can be made, give M as the answer.
{a) N by Q {c) T (dy X e) M
If it is possible to make a meaningful word with the third, the fifth, the seventh
and the tenth letters of the word ‘PROJECTION' which of the following is the
third letter of that word ? If no such word can be made, give X as the answer.
If more than one such word can be made, give M as the answer.
{a) O (b} N ey T dy X ey M
(Bank P.0O. 1885)
If it is possible to make a meaningful word with the fourth, the seventh, the
eleventh and the thirteenth letters of the word ‘CATEGORISATION' which of

the following will be the first letter of that word 7 If no such word can be made,
give X as the answer. If more than one sach word can be made, give M as the

AnsSwer. (Bank P.0O. 1988)
(a) O (bR T d) X ey M
If it is possible to make a meaningful word with the first, the third, the seventh
and the ninth letters of the word SEPARATION, which of the following will be
the third letter of that word ? If no such word can be made, give X as the
answer and if more than one such word can be made, give M as the answer.

(a) O ib) P )T dy X e M
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L. (B) :
4, {e):
T ) :
1. i) :
13. (ch :
18. (a) :
18, (e} :
22. (c) :
2B, (B) :
28. (e} :
81. {a) :

4. (o)

7. (k) :
4, i) :
44, () :
44. (b} :

45. (a) :
48, () :

47. la) :

48. (e):
48, (b) :

BO. {a) :

Bl1. (e} :
B2, (d) ;

53, (k)

54. (#)
B6. (e} :
B4, (d) -
B7. (ed:

&8, () :

ANSWERS
FRUIT 2. (b} : CHASTE 3. (d} . MAGNET
CARTON E. (b) : ENIGMA 8. (¢) : FRIEND
TACKLE 8. (e) : SUGAR 8. (b) : MUSCLE
BRANCH 11. ia) : GAMBLE 13. () : AUTHOR
MENTAL 14. ic) : HANKER 185. ib) : BIGNAL
PLANET 17. (b} : FRIDE 18. (b} : POLICE
NUMBER 20. {c) : ARDENT 21. (b) : PHRASE
CASTLE 23. (d) : DOCILE 24. (b) : REMAND
BRIGHT 26. (d) : TRACE " 27. (b) : MARVEL
DEPORT 28, (b} : THRONE 80. (d) : FROJECT
ASPECT 32. {c) : NATURE 33. (o} : NOTICE
: PISTOL 35. (b) : FAMINE 38. (b} : HANDLE
POCKET 88. (a) : MINGLE C 8. (o) : MAIDEN
LUSTRE 41. (b} 42, (d)

The name of the vegetable is PUMPRIN. The last letter ia N,

The name of the game is BADMINTON. The first and last letters are B and N
respectively.

The word is CASUAL. The first letier is C.

The first, fourth, seventh and eleventh letters of the word SUPERFLUOUS are 8,
E, L and 5 respectively. The word formed is LESS. The first letter is L.

The sixth and fourteenth letters from the right are U and M respectively. The fifth
and twentieth letters from the left are E and T respectively. Clearly, the word formed
is MUTE. So, the first letter is M.

The third, fourth, fifth, seventh and tenth letters of the word PERSONALITY are
R, 8, O, A and T respectively. The word formed ia ROAST. So, the firet letter is R.
The third, fifth, eighth and tenth letters of the word DISTRIBUTE are 5, R, U and
E respectively. The word formed is SURE and its third letter is R.

The first, fourth, ninth and fourteenth letters of the word ADMINISTRATION are
A T, R and N respectively. The word formed i= RAIN. The third letter from the right
end is A

Tha second, fifth and eighth letters of the word CARETAKER are A, T and E
regpectively, The words formed are EAT, ATE and TEA.

The first, second, fourth, fifth and sixth letters of the word ‘CONTRACT are C, O,
T, R, A respectively. The word formed is ACTOR, in which the middle letter is T.
The first, fourth, fifth, seventh, tenth, eleventh and twelfth lettars of the word FELICI-
TATIONS are F, I, C, T, I, O, N respectively. The word formed is FICTION. The fifth
letter from the right is C.

The fourth, sighth and tenth letters of the word COUNTERACT are N, A and T
respectively. The words formed are ANT and TAM.

The first, fourth, seventh and eleventh letters of the word INTERPRETATION ars
I, E. B and T respectively. The words formed are TIER, RITE and TIRE.

The second, fourth, fifth and eighth letters of the word ILLOGICAL are L, 0, G, A
reapectively. The words formed are GOAL and GAOL.

The second, fifth, tenth and twelfth letters of the word METROPOLITAN =re E, O,
T and N respectively. The words formed are NOTE and TONE.

The third, fifth, seventh and tenth letters of the word PROJECTION are O, E, T
and N respectively. The words formed are NOTE and TONE.
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The fourth, seventh, eleventh and thirteenth letters of the word CATEGORISATION

are E, R, T and O respectively. The words formed are TORE and ROTE.

The first, third, seventh and ninth letters of the word SEPARATION are 3, P, T

and O respectively. The words formed are SPOT, POTS and TOPS.

| EXERCISE 101 |

Directions : In each of the following gquestions, find which one word can-
nof be made from the [etters of the given word,

1. CARPENTER
{a) NECTAR (b) CARPET
2. TEACHERS.
{a) REACH (b) CHAIR
3. CONSOLIDATE
{a) LENTIL (b} BLAIN
4. UNIFORMITY
{a) TINY (b} TORN
5. KALEIDOSCOPE
(a) SCALE ih) PADLOCK
8. RECREATION
ia) RATION by ACTION
7. BUPERIMPOSABLE
ia) SPIRE ib) REPTILE
8. COMMENTATOR
{a) TART (b)) COMMON
8. MIRACULOUS
{a) MOLAR ib) LOCUS
10. REASONABLE
() BRAIN () BONES
11. TRIBUNAL
{a) LATIN (by BRAIN
12. TEMPERAMENT
{a} METER () PETER
13. KNOWLEDGE
{a) WEDGE (by GODOWN
14. CONTEMPORARY
{a) PARROT (b} COMPANY
15. REFRIGERATE
{a) REFER (b} REGRET
18. PARAPHERNALIA
{a) RENAL {b) PRAISE
17. OBSTETRICIAN
{a) SOBER (&) TERMITE

() PAINTER (d) REPENT
{I. Tax & Central Excisa, 1995)
(¢) CHEER (d) SEARCH
(e} CONDOLE (d} DETAIL
(8.8.C. 1994)
{ct RENT (d} FORM
(e} PACKET (d) DIESEL
{Assistant Grade, 19894)
ey TORN () REFER
(e} POSSIBLE id) REPOSURE
(C.B.1. 1985)
() MOMENT (d) COSMOS
{e) SOLACE (d) SCAR
(8.8.C. 1992)
(c) NOBLE (d) ARSON
() URBAN (d) TRIBLE
(8.5.C. 1996)
(e) TENTER (d) TESTER
i¢) KLEEN d) GOLDEN
(Central Exciss, 1095)
{e) CARFENTER (d) PRAYER
(c) REGENERATE (d) FREE
(C.B.L 1984)
(c) HAPHAEL id) PEAR
(c) RETAIN id) SIREN
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18. UNCONSCIOUS

(a) SON () COIN
18. TURBULENCE

{a) CART (&) BLUE
20. TRANQUILITY

{a) QUILT (b) TRINITY
21, INTERNATIONAL

(a) ORIENTAL (b) TERMINAL
22. ORGANISATION

{a) NATION (b GRANT
23. VARIEGATED

{a} TRAVEL (b) TRADE
24, DISSEMINATION

{a) INDIA (b) NATIONS
25. CREDENTIAL
' {a) DENTAL {b) CREATE
26. REPRIMAND

{a) MAIDEN {b) REPAIR
27. COLLABORATION

{a@) BRITAIN (b) COLORATION
28. PROGNOSTICATION

{z) RONTGEN (b) START
28. DEPARTMENT

{a) ENTER (h) PERMIT
30. DISAPPOINTMENT

(z) POINT (b) OINTMENT
31. QUESTIONNAIRE

(a) QUESTOR by QUEUE
32. PHARMACEUTICAL

{a) FPRACTICE (b} METRIC
33. ADULTERATION

{a) RETURN (b) RELATION
34. ENDEAVOUR

{a) DROVE (b) DEVOUR
35. INTELLIGENCE

(a) CANCEL (b) INCITE
38. THERMOLYSIS

{a) LOITER (b} LORIS-
37. FLEXIGERATOR

o) TAXI {(b) GREATER
38. CHOREOGRAPHY

{a) OGRE {6) PHOTOGRAFHY
38, CONSTITUTIONAL

(a) LOCATION (b)Y TUITION

te:r The Information Provided here is
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(8.8.0. 1984)
ek SUN {d) NOSE
(c) RENT {d) LENT
(8.5.C. 1994)
(c) TRAIN {d) TRIANGLE
{c) LATTER llid] RATIONALE

(Assistant Grade, 1994)
{c) RECOGNISE (d) SATAN

(c) GREAT {d) RIGVEDA

(C.B.L 1995)

(e} II':IENTI{JN (d) ACTION

{e) TRAIN {d) CREAM
(8.8.C. 1006)

{e) MUNDANE {d) REMAND

{c) ROBOT id) LEBARIN
{B.8.C. 1993)

{c) SPITOON {d) ROGATION

(c) TEMPER id) RENTED
(8.5.C. 1994)

(c) TENAMENT (d) POSITION

ic} QUINATE id) QUERIES
(C.B.L 1895)

{c) RHEUMATIC {d) CRITICAL

ic) RETAIL (d) TOILET
(S.8.C. 1985)
{c) DROWN {d) ROUND
(c) GENTLE {d) NEGLECT
(8.8.C. 1993)
(c) LOTUS (d) SISTER
(c) LARGER (d) KEROX
{C.B.1. 1894)
{c) GRAPH (d) GEOGRAPHY
{c) TALENT (d} CONSULT

Origina


https://www.entranceexams.io/previous-papers/

wwwW.entranceexams.io

416 Reasoning
10, ETHNOGRAPHIC (8.8.C. 1993)
(a) HEART (b) GEAR (c) EARTH (d) GARMENT
41. TRANSLOCATION
{a} TALCUM {b) COAL (¢} START {d) CARTON
42. SIGNIFICANT
{a) GIANT {b) INSIGNIA {c} INFANT {d} NASCENT
GERMINATION
{a) ORNAMENT (b)) TERMINAL (c) IGNITE id) NIGER

. TOURNAMENT _
(a) NORMAN (5) ROTTEN (e} MANOUEVRE {d) MANNER

{z) DISCERN (b) GRINDER {e) DROOP (d) SUPERIOR

43.

d4.

45. CORRESPONDING
48.

CHROMATOGRAFHIC

{a) PRAGMATIC (b) PHOTO (¢} GOTHAM {d) MARGIN

Directions : In each of the following questions, choose one word which
can be formed from the letters of the given word.

47. CHOCOLATE (L Tax & Ceniral Excise, 1984)
{e) TELL (t) HEALTH ic) LATE id) COOLER

48. MEASUREMENT : (8.8.C. 1985)
ia) MASTER {b) MANTLE (c) SUMMIT {d) ASSURE

48, RHINOCEROS (Contral Excise, 1994)
{a) RENAL (b) HIND (c) SURE (d) HORSE

50. RECOMMENDATION
(@) MEDIATE  (b) MEDICINE  (c) REMINDER  (d) COMMUNICATE
51. QUINTESSENCE

(m) SCOT (b) QUOTE (c) QUITE (d) ESTEEM
52. VENTURESOME (I Tax, 1984)
(o) ROSTRUM (b) SERMON _{c) TRAVERSER  (d) SEVENTEEN

53. CONSTANTINOPLE
{(a) CONTINUE  (b) CONSCIENCE (¢) CONSTANCE (d) CONTENT

ANSWERS

8. (a) 4. (&) B. (c) 6. (d) 7. (&) B. (d) 2. {e)

12. () 18 (b} 14 () 1B ) 16, (b) 17.(6) 1B (d)

~ 21 (h) 2R i) 23 (a) 4. (d) 25 (d) P& () -27.(a)

80. () 9. 32 i(d) 393.{a) 34 (c) 35 (@) 36 ()

88 () 40 (d) 4l {a) 42 0d) 43 (F) 44 (c) 45 (d)
48, (o) 48 (d) BO. (a) Bl (o) 52. (b 53. (d)

1. () 2. (b)
10, fa}) 11. fd}
18, {a) 20, (d)
28, (o) .20, (b)
37. (¢ 88 (b)
46. (d)  47. ()
The Information P

y vary the Origina



‘11. NUMBER, RANKING & TIME SEQUENCE TEST

TYPE 1 : NUMBER TEST

In this type of questions, generally you are given a long series of numbers. The
candidate is required to find out how many times a number satisfying the conditions,
specified in the guestion, ocours.

Ex. 1.

Sol.

Ex. 2.

Ex. 3.

Ex. 4.

| ILLUSTRATIVE EXAMPLES |
How many 5's are there in the following sequence which are immediately

followed by 3 but not immediately preceded by 7 7 (Bank P.0. 1987)
B953253B55687T3357T7T0365335738
() One (b) Two (g} Three id) Four {e) More than four

As you know, a number which comes after a given number iz said to follow
it while the one which comes before the given number precedes it.
Thus, the numbers satisfring the given conditions, can be shown as follows :
BO[5)32[5]386568733577636[5]335738
Clearly, there are three such numbers, Hence, the answer is (c).
How many even numbers are there in the following sequence of numbers
which are immediately followed by an odd number as well as immediately
preceded by an even number 7 (Bank P.0. 1985)
BATHBDI2753422355228119
(a) One (b} Three ic) Five {d) Six (e} None of these
As you know, numbers divigible by 2 are called even while those not divisible
by 2 are called odd numbers.
Thus, the numbers satisfying the given conditions, can be shown as follows -
8@ 76(8]93275342[2)35622[B 119
Clearly, there are four such numbers. Hence, the answer is (g).
In the series,
641228742153862171413286
how many pairs of successive numbers have a difference of 2 each 7
{a) 4 b) 5 ) B {d) 7

(C.AT. 1997)

Clearly, the pairs of sucressive numbers having a difference of 2 can be shown
as follows :

[6d4]12287[42]1[53][86]21714[13)2[B8
Thus, there are six such pairs. Hence, the answer is (c),

How many B's are there in the following number series whith are exactly
divisible by its immediately preceding and also divisible by immediately
succéeding numbers 7

824517284842282698454832843183
(a) 1 (b) 2 (e} 3 (d) 4 () Mone of these
; 417




418 Reasoning

Sol. Clearly, the numbers satisfying the given conditions can be shown as follows :
8245172[8 4[8]422[B]2698454832([F) 43183
Thus, there are four such 8's. Hence the anawer is (d).

| EXERCISE 11A |

1. Which iz the third number to the left of the number which is exactly in the
middle of the following sequence of numbers 7

1234567809246807531 987654321

(x) 3 (b) 4 {e) 5 (d) 6 e) 7

2. How many 3's are there in the following sequence which are neither preceded
by & nor immediately followed by 8 ? (5. B.1LP.O. 1884)
936639593 7801639639
@) One (b) Two {e) Threa {(d) Four (e} None of these

3. Count each 7 which is not immediately preceded by 5 but is immediately followed
by either 2 or 3. How many such 7's are there ? (S.8.C. 1883)
ET265T7T383T7T3257273482678
{a) 2 R ) I (e) 4 d} 5 )

4. How many 6z are there in the following series of numbers which are preceded
by 7 but not immediately followed by & ? (Railways, 1984)
6TO96569T7T68BTETRE946T77695763
{a) One (b) Two () Three () Four

5. How many 7's are there in the following series which are not immediately fol-
lowed by 3 but immediately preceded by B 7 (L.LC. 1994)
BE9BT7622632607328T727T78737T7T94
(a) 10 (b) 3 () 2 (d) O (e} None of these

6. Count each 1 in the following sequence of numbers that is immediately followed
by 2, if 2 is not immediately followed by 3. How many such 1's are there ?
12134512352126145112412321752125
() 2 (b) 4 (e} B () 7 {e) 9

7. How many 7's are there in the following series which are preceded by 6 which
is not preceded by 8 ? (B.8.H.B. 1985)
BT6ET7T8B6B7T56T7T9T6167.TEB86B69T687
{a) Nil (h) One ic) Two (d) Three (2) None of these

8. In the following list of numerals, how many 2's are followed by 1's but not
preceded by 4 7 (C.B.IL 1993)
421214211244412212144214212124142124146
{a) Two {b} Three {e) Four (d) Five

Directions (Questions 9-10) : Study the number series given below and
answer the guestions that follow : (M.B.A. 1868)
TE9T7T653428972459297647
9. How many T's are preceded by 9 and followed by 6 ?

fa} 2 (b 3 (e) 4 () & {#) None of these
10. Which figures have equal frequency ?
{a) 253 {b) 245 {c) 376 (d) BES (e} None of these
: The Information Provided here is only for reference.It may wvary the Origina.
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11. How many 6's are there in the following number sequence which are imme-
diately preceded by 9 but not immediately followed by 4 7 (B.S.RL.E. 1998)
FE4329631649642159672147496472
(@) One (&) Two i) Three {d} Four i#) More than four
12. In the following series of numbers, find oul how many times, 1, 3 and 7 have
appeared together, 7 being in the middle and 1 and 3 on either side of 7 7
2073173771331 7386713771739206
ta) 3 (hy 4 fc) &
{d) More than & {e) None of these (S.B.LP.O. 1991)
13. In the series,
641228742163862171413286
how many pairs of alternate numbers have a difference of 2 7 (C.AT. 1997)
{a) One (b1 Twa {e) Three {d} Four
14. How many even numbers are there in the following sequence of numbers which

are immediately follewed by an odd number as well as immediately preceded

by an even number 7 (Bank P.0). 1996)
86768032753 422305228119
{a) One (b} Three i) Five {d} Six {e) Mone of these

Directions (Questions 15 to I7) : Study the following number sequeénce

and answer the gquestions given below it ; (Bank P.0. 1996)

16.

16.

17.

18.

18.

E14T7T39B85T7T2631656863862243496

How many odd numbers are there in the sequence which are immediately
followed by an odd number ?

(a) 1 b 2 {ch 3 {d) 4 (e) More than-4

How many even numbers are there in the sequence which are immediately
preceded by an odd number but immediately followed by an even number ¥
{a) 1 ih) 2 (c) 3 d) 4 te) More than 4

How many odd numbers are there in the sequence which are immediately preceded
and also immediately followed by an even number 7

{ad 1 (h) 2 [ d) 4 (e) More than 4

In the following series, how many such odd numbers are there which are
divisible by 3 or 5, then followed by odd numbers and then also followed by
even numbers 7 (S.B.LP.O. 1885)
12, 19, 21, 3, 256, 18, 35, 20, 22, 21, 45, 46, 47, 48, 9, 50, 52, 54, 55, 56

{ah Mil b One ic) Two {d) Three (g} None of these

In the following number sequence, how many sguch even numbers are there
which are exactly divisible by its immediate preceding number but not exactly
divizible by its immediate following number ? (Bank P.0. 1994)
3B415728348939421582

{a) One () Two (e} Three id} Four ie) None of these
Nitin was counting down from 32, Sumit was counting upwards the numbers
starting from 1 and he was calling out only the odd numbers. What eommon
number will they call out at the same time if they were calling out at the same

speed T (L.LC. 1994)
{a) 19 (b} 21 (e) 22
{d) They will not call out the same number {e) None of these

he

Origina.
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If the first and second digits in the sequence 598132 7 4 3 8 are interchanged,
also the third and fourth digits, the fifth and sixth digits and so on, which digit
would be the seventh counting to your left ? (Bank P.O. 1997)
{a) 1 (b) 4 ) 7 (d) 8 (e} None of these
If the position of the first and the sixth digits of the sequence of numbers
89032146 75 are interchanged, the second and the seventh and so on,
which number would be seventh from the right end ? (8.B.1.P.O. 1992)
{a) 2 by 8 {e) 7 d) 8 {e) 9
The letters L, M, N, 0, P, @, R, S and T in their order are substituted by nine
integers 1 to 9 but not in that order. 4 is assigned to P. The difference between
P and T is 5. The difference between N and T is 3. What is the integer assigned
to N ? (IALS. 1994)
(a) 4 (b} 5 (c) 6 dy 7
Thirty six vehicles are parked in a parking lot in a single row. After the first
car, there is one scooter. After the second car, there are two scooters. After the
third car, there are three scooters and so on. Work out the number of scooters
in the second half of the row. (M.B.A. 1997)
() 10 (b) 12 (e} 15 d) 17
In the following sequence of instructions, 1 stands for Run, 2 stands for Stop,
3 stands for Go, 4 stands for Sit and 5 stands for Wait. If the sequence were
continued, which instruction will come next ?
44545345314531245453453
(a) Wait (b) Sit (e) Go () Stop (e} Run
In a school, the following codes were used during physical exercise. *1' means
‘start walking’, 2’ means ‘keep standing’, ‘3’ means ‘start running at the same
spot’, ‘4’ means ‘sit down'. How many times will a student who performs the
following sequence without error from the beginning to the end have to sit down 7
123423144322124314412
(a) 2 ib) 3 (c) 4 {d) 5 {e) None of these
If the numbers from 1 to 45 which are exactly divisible by 3 are arranged in
ascending order, minimum numbe: being on tha top, which would come at the
ninth place from the top ? (Bank P.O. 1993)
{a) 18 (b) 21 (e} 24 {d) 27 (e) 30
If the numbers from 5 to 86 which are exactly divieible by 5 are arranged in
descending order, which would come at the eleventh place from the bottom'?
{a) 35 (b) 45 {c) 50 (d) 60 {e) None of these
(B.5.R.B. 1996)

28. How many numbers from 1 to 100 are there each of which is not only e‘.ltal:t.l:.r
divigible by 4 but also has 4 as a digit 7
() 7 (k) 10 {c) 20 {d) 21 te} More than 21
30. How many numbers amongst the numbers 9 to 54 are there which are exactly
divisible by 9 but not by 3 ? {Railways, 1995)
(a) 8 by 6 ) {c} & (d) Nil
31. How many numbers from 11 to 50 are there which are exactly divisible by 7
but not by 3 ?
(@) Two (b} Four (¢} Five (d) Six (e} Seven
Information Provided here is anl for re rence.It m rary the Origina
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32. A number is greater than 3 but less than B, Also, it is greater than 6 but less
than 10. The number is

la) 5 by 6 e} 7 (d) 8 ie) 9

ANSWERS

1. (&) ; There are 27 numbers in the given sequence.
B0, middle number = 14th number = 9.
Clearly, the third number to the left of this 9 is 4.

2.(6): 9[3]6630560[3]7891620639

8.(a}): 572667383 32572[7]3482678

4.0c): 67905607(6]87(6]78609467760957[6]3

5.(c): 898[7]6226326987328[7|277877794
6.():[1]2184512852[1]|261461[1]24128321752[1]25

7.(d): 876[1]86756[7]976[1]6[7]76888097687

B.(c): 421[2]14211244¢12[2]1[2]14421421[2]124142124146
9.00): 789[7]65342897245929(7]647

10, () ; In the given series, 2 occurs 3 times; 3 occurs once; 4 occurs 3 times; 5 occurs 2
times; 6 occurs 2 times; 7 occurs 5 times; B occurs 2 times and @ oecurs 4 times.

Clearly, the frequency of B, 6 and 8 is the same ie, 2.
1.(6): 564329[6]31649642150[6]7214749642

12.(0): 2973[1738]|77133[173]|8571377[173]908

13. (b) : We proceed by checking the difference between pairs of elternate numbers ie., (6,1),
(4,2), (1,2), (2,8}, (2,7, (B.4), (7,2}, (4,1}, (2,5), (1,3), (5,8), (3,6), (8,2), (6,1), (2,7}, (1,1},
(7.4), (1,1}, (4,3}, (1,2}, (3,8), and (2,6). Of these, the pairs with a difference of 2
are (4,2) and (1,3). Clearly, there are two such, pairs,

14. (e} ; 3@75932?5342@]35522119
15.(31-.'514.[1]@95@126@@53&3352243495

16.(c): 514739857[2]6315([8]6385[2]243496

17.d) 5147398572631 586[3]8[5]224([3]4([9]6

18, (c) : 12, 19, 21, [3], 25, 18, 35, 20, 22, [21], 45, 46, 47, 48, 9, 50, 52, 54, 55, 56
19.(6): 3841572[B]34([B]930421582

20. (d): Nitin : 32 31 30 29 28 27 26 25 24 23 22 21 20...

Bumit:1 3 65 7 911131617 19 21 23 25..

Clearly, both will never call cut the same number.
21. (d) : The new sequence becomes 9 5 1823478 3.

Counting to the left, the seventh number is 8.
22. {¢) : The new sequence becomes 1 46 758903 2.

From the right end, the seventh number is 7.
23.(c): P=4dand T=-FP=5 = T=9

T-N=3 and T=9 = N=6

21 The Information Provided here is only for reference.It may wvary the Origina.



wwwW.entranceexams.io

422 Reasoning

24. (c) : Let C and 8 denote car and scooter respectively.
Then, the sequence of parking is
ESESEGSSSESSSSCSSﬂlSEESSSESSCSSSSSSSC
The above sequence has been divided into two equal halves by a line,

Clearly, number of scooters in second half of the row = 15.
25, (e) : The given sequence may be analysed as under :

4/ 45 [ 453 / 4531 / 45312 / 45 / 453 / 453

Following the above sequence, the next number i 1 which stands for ‘Run’.
286. (c) : Clearly, the student will have to sit down at the places marked by boxes :

123[@)J231[44]az2212[@]s1[44]12

27. (d) : The required numbers in ascending order are :
3, 6,9, 12, 15, 18, 21, 24, 27, 30, 33, 36, 38, 42, 45.
If the minimum number i.e., 3 is considered to be at the top, the mnth number from
the top is 27.

28. (¢} : The required numbers in descending order are :
85, B0, 76, 70, 65, 60, 55, 50, 45, 40, 35, 30, 25, 20, 15, 10, 5.
The eleventh number from the bottom is 55.

29. (a) : The numbers from 1 to 100 which are exactly divisible by 4 are 4, 8, 12, 16, 20, 24,
28, 32, 36, 40, 44, 48, 52, 56, 60, 64, 68, 72, 76, BO, B4, 88, 42, 96, 100.
But each number should have 4 as ita digit.
.. The required numbers are 4, 24, 40, 44, 48, 64, 84, Clearly, there are 7 such
numbers,

30. () : Any number divisible by 9 is also divisible by 3.

81. (4) : The numbers from 11 to 50, which are divisible by 7 are 14, 21, 28, 35, 42, 40, But
out of these, 21 and 42 are divisible by 3.
. The required numbers are 14, 28, 35, 49.
Clearly, there are four such numbers.

32, (c): According to first condition, the number is greater than 3 but less than 8. Such
numbers are 4, 5, 6, 7.
According to the second condition, the number iz greater than & but less than 10.
Such numbers are 7, 8, 9.
Clearly, the required number is the number satisfying both the above conditions i.e., 7.

TYPE 2: RANKING TEST

In this, generally the ranks of a person both from the top and from the bottom
are mentioned and the total number of persons is asked. However, sometimes this
question is put in the form of a puzzle of interchanging seats by two persons.

| ILLUSTRATIVE EXAMPLES |

Ex. 1. Rahul ranked ninth from the top and thirty eighth from the bottom in a
clags. How many students are there in the class ? (MLB.A. 1998)
{a) 45 {b) 46 ic) 47 {d) 48
Sol. Clearly, the whole class consists of ;
(i) 8 students who have a rank higher than Rahul;
(i) Rahul; and
(iii) 37 students who have rank lower than Rahul.
fe., (8+1+37)= 46 students.
Hence, the answer is (b).

Information Provided here is only for reference.It may wvary the Origina.l
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Ex. 2. In a row of 21 girls, when Monika was shifted by four places towards the

right, she became 12th from the left end. What was her earlier position from
the right end of the row 7

(a) 9th (b} 10th (c) 11th id) 12th (e) 14th
The change of place by Monika can be shown as under :
123 4566789 10 11 M 13 14 156 16 17 1B 19 20 21

| . |
Clearly, Monika's earlier position was Bth from the left end and 14th from
the right end. Hence, the answer is ().

Ex. 3. In a row of boys, Deepak is seventh from the left and Madhu is twelfth from

the right. If they interchange their positions, Deepak becomes twenty-second

from the left. How many bovs are there in the row 7 (B.S.LE. 1996)
(a) 19 (b) 31 (c) 33
{d) Cannot be determined {e) None of these

Deepak's new position is 22nd from left. But it is the same as Madhu's earlier
position which is 12th from the right.

Thus, the row consists of (21 + 1 + 11) = 33 boys.
Hence, the answer is (¢).

| EXERCISE 11B |

In & row of trees, one tree is Afth from either end of the row. How many trees
are there in the row ? {Assistant Grade, 1995)
{a) 8 (b) 9 {c) 10 (d) 11

In a queue, Amrita is 10th from the front while Mukul is 25th from behind and
Mamta is just in the middle of the two. If there be 50 persons in the queue,

what position does Mamta cccupy from the front ? (C.ALT. 1997)
{a) 20th {b) 19th {c) 18th id) 1Tth

Raman ranks sixteenth from the top and forty ninth from the bottom in a class.
How many students are there in the class 7 (B.E.R.B. 1988)
() 64 (b) 65 {c) 66

{d) Cannot be determined {e}) None of these

Sanjeev ranks seventh from the top and twenty eighth from the bottom in a
class. How many students are there in the class ? (Railways, 1988)
{a) 37 (b) 36 {e) 35 () 34

If Atul finds that he is twelfth from the right in a line of boys and fourth from
the left, how many boys should be added to the line such that there are 28 boys
in the line ? {L.LC. 1984)
(x) 12 (b) 13 (c) 14 {d) 20 (e} None of these
Manisha ranked sixteenth from the top and twenty ninth from the bottom among
those who passed an examination. Six boys did not participate in the competition
and five failed in it. How many boys were there in the class ?
(a) 40 (b) 44 " (e} 5O (d) b5 le) 58

(Bank P.O. 1997)
Some boys are sitting in a row. P is sitting fourteenth from the left and Q is
seventh from the right. If there are four boys between P and @, how many boys
are there in the row ?

{a) 25 (b 23 ic) 21 () 19 i) None of these

we: The Information Provided here is anly for reference.It may wvary the Origina
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Aruna ranks twelfth in a class of forty-six. What will be her rank from the lnst 7
(BS.RLB. 1997)

{a) 33 (b) 34 {c) 35 (d) 37 {e) None of these

Manaj and Sachin are ranked seventh and eleventh respectively from the top
in a class of 31 students. What will be their respective ranks from the bottom
in the class ?

{a) 20th and 24th ib) 24th and 20th {c) 25th and 21st

(d) 26th and 22nd {¢) None of these

Ravi ig 7 ranks ahead of Sumit in a class of 39. If Sumit's rank is seventeenth
from the last, what is Ravi's rank from the start ? (R.R.B.1998)
{a) l4th (h) 15th (c) 16th id) 17th

In a class of 60, where girls are twice that of boys, Kamal ranked seventeenth
from the top. Iftharem&gzrls ahead of Kamal, how many boys are after him
in rank ? (B.5.R.B. 1995)
{a) 3 "7 (c) 12 {d) 23 le) 32
In a row of ten boys, when Rohit was shifted by two places towards the left, he
became seventh from the left end. What was his earlier position from the right
end of the row ? (B.8.C. 1995)
{a) First (&) Second {¢) Fourth {d) Sixth
In a queue, Vijay is fourteenth from the front and Jack is seventeenth from the
end, while Mary is in between Vijay and Jack. If Vijay be ahead of Jack and
there be 48 persons in the gueue, how many persons are there between Vijay
and Mary ? (M.B.A. 1894)
(a) B by 7 e} 6 d) 6 (e) None of these
In a row of girls, Rita and Monika occupy the ninth place from the right end
and tenth place from the left end, respectively. If they interchange their places,
Rita and Monika oecupy seventeenth place from the right and eighteenth place
from the left, respectively. How many girls are there in the row ?
{a) 256 (b) 26 {c) 27
() Data inadequate e} Nene of these (Bank P.O. 1897)
In a row of girls, Shilpa is eighth from the left and Reena is seventeenth from
the right. If they interchange their positions, Shilpa becomes fourteenth from
the left. How many girls are there in the row ? (B.5.HL.B. 1996)
(a) 25 (b) 27 {c) 29 (d) 32 {e) None of these
In a queue of children, Kashish is fifth from the left and Mona is sixth from
the right. When they interchange their places among themselves, Kashish becomes
thirteenth from the left. Then, what will be Mona's position from the right 7
(a) 4th (b} Bth {c) 14th (d} 15th

(1. Tax & Central Exciss, 1906)
In a row of boys, Kapil is eighth from the right and Nikunj is twelfth from the
left. When Kapil and Nikunj interchange positions, Nikunj becomes twenty first
from the left. Which of the following will be Kapil's position from the right ?

(e} Bth (b} 17th (c) 21st
{d) Cannot be determined (e} None of these (Bank P.O. 1995)
ormation Provided here is only for reference.It m r

ay wary the Origina.
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18. Three persons A, B and C are standing in a queue. There are five' persons
between A and B and eight persons between B and C. If there be three persons
ahead of C and 21 persons behind A, what could be the minimum number of
persons in the queue ? (Hotel Management, 1997)
(a) 41 (b) 40 {c) 28 id) 27

ANSWERS

1. {8} : Clearly, number of trees in the row =(4 + 1+ 4)=9,
2. (¢} ; Number of persons between Amrita and Mukul = 50 - (10 + 25) = 15.
Since Mamta lies in middle of these 15 persona, so Mamta's position is 8th from
Amprita ie. 15th from the front.
8. {a): Cleatly, number of students in the class = (15 + 1 + 48) = 64.
4. (d) : Clearly, number of students in the class = (6 + 1+ 27) = 34.
5. (b) : Clearly, number of boys in the line =(11 + 1 +3) = 15.
7. Number of boys to be added = 28 - 15 = 13,
6. (d) : Number of bovs who passed = (15 + 1 + 28) = 44.
o Total number of boya-in the class =44 + 6 + 5 =55
7. la) : Number of boys in the row
* = number of boys uptil P + number of bovs between P and @
+ number of boys including § and those behind Q
eld+4+T=25
8. (c) : Number of students behind Aruna in rank ={46 - 12) = 34.
So, Aruna is 36th from the last.
8, (¢) : Number of students behind Manoj in rank =(31 - 7) = 24,
S0, Manoj is 25th from the bottom,
Number of students behind Sachin in rank =31 - 11) = 20.
S0, Sachin is 21st from the bottom.
10. {e) : Sumit is 17th from the last and Rawvi is 7 ranks ahead of Sumit. So, Ravi is 24th
from the last.
Number of studentz ahead of Ravi in rank = (39 - 24) = 15,
8o, Havi is 16th from the start,
11.le): Let the number of boys be x. Then, number of girls = 2x.
L x+2x =80 or 83z =80 or x=20.
8o, number of boys = 20 and number of girls = 40.
Number of gtudents behind Kamal in rank = (60 - 17) = 43.
Number of girls ahead of Kamal in rank = 9.
Number of girls behind Kamal in rank =40 - 9 = 31,
;. Number of boys behind Kamal in rank = 43 - 31 = 12,
12. (b} : Number of boys in the row = 10.
y Rohit's new position is Tth from the left or 4th from the right.
His earlier position was two places to the right of his new position ie., his earlier
position was second [rom the right,
3. {a) : Number of persons between Vijay and Jack =48 - (14 + 171 = 17,
Now, Mary lies in middle of these 17 persons {2, at the eighth position.
S0, number of persons between Vijay and Mary = 7.
14. (b) : Since Rita and Moniks exchange places, so Rita's new position 15 the same as Monika's
earlier position.
This pesition i® 17th from the right and 10th from the left.
2. Number of girls in the row = {16+ 1 + 9) = 28,

t may wary the Origina.
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Since Shilpa and Reena interchange positions, so Shilpa’s new position is the same
as Heena's earlier position.

This position is 14th from the left (Shilpa's new position) and 17th from the right
(Reena's earlier position).

o Number of girla in the row ={13 + 1 + 16) = 30.

Since Kashish and Mona interchange places, so Kashish's new position (13th from
left) ia the same as Mona's earlier position (6th from rightl

So, number of children in the queue =(12+ 1 +5) = 18,

MNow, Mona's new position is the same as Kashish's earlier position ie., fifth from
left.

-, Mona's position from the right = (18 - 4) = 14th.

: Since Kapil and Nikunj interchange places, so Nikunj's new position (21st from left)

ia the same as Kapil's earlier position (8th from right).

So, number of boys in the row =(20+ 1+ 7) = 28,

MNow, Kapil's new position is the same as Nikunj's earlier position i.c., 12th from left.
- Kapil's position from the right = (28 - 11) = 1Tth.

Three persons A, B, C can ba arranged in a queue in six different ways i, ABC,
CBA, BAC, CAB, BCA, ACB. But since there are only 3 persons ahead of C, 80 C
should be in front of the queune. Thus, there are only two possible arrangements
ie., CBA and CAB. We may consider the two cases as under :
le::—ﬂq—i—hﬂq—iﬂﬁ—z—}-—r

Clearly, number of persons in the queus ={(3+1+8+1+5+1+21) =40

3 5
Case I1: «——C A+——a B
— =
. 2

Number of persons between A and C = (8 ) =2.
Clearly, number of persons in the queue = (3 +1+2+ 1+ 21)= 28,
MNow, 28 < 40. So, 28 is the minimam number of persons in the quene.

Ex. 1.

Ex. 2.

Information Provided here is only for referenge.It may wvary the Mrigina.

TYPE 3 : TIME SEQUENCE TEST

Satish remembers that his brother's hirthday is after fifteenth but before
eighteenth of February whereas his sister Kajél remembers that her brother's
birthday is after sixteenth but before nineteenth of February. On which day
in February is Satish's brother's birthday ? (Bank P.O. 1998}
{a) 16th (b) 17th {c) 18th {d) 19th (e} None of these
According to Satish, the brother's birthday is on one of the days among 16th
and 17th February,

According to Kajal, the brother's birthday is on one of the days among 17th
and 18th February.

Clearly, Satish's brother’s birthday is on the day common to both the above
groups ie., 17th February.

Hence, the answer is (b).

A bus for Delhi leaves every thirty minutes from a bus stand. An enquiry
clerk told a passenger that the bus had already left ten minutes ago and the
next bus will leave at 9.356 a.m. At what time did the enguiry clerk give this
information to the passenger ?

(@) 9.10 a.m. {b) 8.56 a.m. (c) 9.08 p.m.

{d) 9.05 a.m. {e) _9.15 A.m,
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Sol. The next bus will leave at 9.35 a.m. This means that the previous bus had
left at 9.05 a.m. But it happened ten minutes before the elerk gave the infor-
mation to the passenger.

Thus, the enguiry clerk gave the information at 9.15 a.m.
Hence, the answer is {e).

Ex. 3. If the seventh day of a month is three days earlier than Friday, what day
will it be on the nineteenth day of the month ? (C.B.L 1894)
ia) Sunday {k) Monday {e) Wednesday () Friday

Sol. As mentioned, the seventh day of the month ig three davs earlier than Friday,
which is Tuesday.

So, the fourteenth day is alse Tuesday and thus, the nineteenth day is Sunday,
Hence, the answer is (a).

Ex. 4. If it was Saturday on 17th December, 19582 what will be the day on 22nd
Decomber, 1984 7 (RLR.H. 1998)
{a) Monday {h) Tuesday fe) Wedneaday (d} Sunday

Sol. Clearly, every day repeats itself on the seventh day. Now, 1Tth Dec. 1982-
17th Dec. 1983 iz a period of 365 days. Dividing by 7, we get 52 weeks and
one day. Thus, the 365th day will be the same as the first day i.e., 16th Dec.
1983 is also Saturday,

Mow, 16th Dec, 1983-16th Dec, 1984 is a period of 366 days (because 1984,
being a leap year, has 29 days in February). Thus, as shown above, 14th
Dec. 1984 will be the same as 16th Dec, 1983 fe, Saturday. So, 21st Dec
1984 is also Saturday and thus, 22nd Dec. 1984 is a Sunday.

Hence, the answer is (d).

Note : For such questions as Ex. 4, remember
(i) A vear has 365 days.

(i{) Years, divisible by 4, are leap vears eg., 1980, 1984, 1988, 1992, 1996,...
They have 366 days.

(i) February in a leap year has 28 days.

(i} The last day of a year is the same as first day.
Thus, if the first day of a vear is Friday, then the last day of the year is
Friday and the first day of the next vear is Saturday.
However, if the first day of a leap year is Friday, then the last day of the
year is Saturday and the first day of the next year is Sunday.

| EXERCISE 11C

1. Kailash remembers that his brother Deepak’s birthday falls after 20th May but
before 28th May, while Geeta remembers that Deepak's birthday falls before
22nd May but after 12th May. On what date Deepak’s birthday falls 7
() 20th May by 218t May i) 22nd May
{ef) Cannot be determined (e} Nofie of these

2. Sangeeta remembers that her father's birthday was certainly after eighth but
before thirteenth of December. Her sister Natasha remembers that their father's
birthd.iy was definitely after ninth but before fourteenth of December, On which
date of December was their father's birthday ? {Bank P.0. 1998)
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{a) 10th by 11th le) 12th
() Data inadequate (e} None of these

8. Standing on a platform, Amit told Sunita that Aligarh was more than ten
kilometres but less than fifteen kilometres from there. Sunita knew that it was
more than twelve but less then fourteen kilometres from there. IF both of them
were correct, which of the following could be the distance of Aligarh from the
platform ? (BS.R.B. 1997)
{z) 11 km (&) 12 km (e} 13 km () 14 km {e) 15 km

4. Ashish leaves his house at 20 minutes to seven in the morning, reaches Kunal's
house in 25 minutes, they finish their breakfast in. another 15 minutes and
leave for their office which takes another 35 minutes. At what time do they
leave Kunal's house to reach their office 7 {Bank P.0. 1867)
() 7.40 a.m. (b 7.20 a.m. (e} 745 am. {d) B.15 am. (e} 7.55 a.m.

5. Ajay left home for the bus stop 15 minutes earlier than uwsual It takes 10
minutes to reach the stop. He reached the stop at 8.40 a.m. What time does he

usually leave home for the bus stop 7 (L.LC. 1894)
{a} 8.30 a.m. (b) 8.456 p.m. (c) 855 am,
(d) Data inadequate (e} None of these

6. Heaching the place of meeting on Tuesday 15 minutes before 08.30 hours, Anuj ]
found himzelf half an hour earlier than the man who was 40 minutes late. What
was the scheduled time of the meeting ? (B.5.C. 1996)
{(a) B.00 hrs (h) B.O5 hrs {2} B.15 hra () B.456 hrs

7. The priest told the devotee, “The temple bell ia rung at regular intervals of 45
minutes. The last bell was rung five minutes ago. The next bell is due to be
rung at 745 am.” At what time did the priest give this information to the

devotes 7 (B.5.R.B. 1988)
(@) 7.40 a.m. (b)Y T.06 a.m. (e) 7.00 a.m.
()} 6.556 a.m. (e} None of these

8. The train for Lucknow leaves every two and a half hours from New Delhi Railway
Station. An announcement wae made at the station that the train for Lucknow
had left 40 minutes ago and the next train will leave at 18.00 hrs. At what time
was the announcement made 7
{a) 15.30 hrs (6) 17.10 hrs {c) 16.00 hrs
(e} 15.50 hre (e} None of these

8. An application was received by inward clerk in the afternoon of a2 week day.
Next day he forwarded it to the table of the senior clerk, who was on leave that
day. The senior clerk next day evening put up the application to the desk officer.
Desk officer studied the application and disposed off the matter on the same
day i.e., Friday. Which day was the application received by the inward clerk ?
{a} Monday (B) Tuesday ir) Wednesday
{d) Earlier week's Saturday {e) None of theae (Bank P.O. 1997)

10. There are twenty people working in an office. The first group of five works
between 8.00 AM. and 2.00 P.M. The second group of ten works between 10.00
AM. and 400 PM. And the third group of five works between 12 noon and
8.00 P.M. There are three computers in the office which all the employees fre-
quently use. During which of the following hours the computers are likely to be
used most 7 (C.B.L 1996)
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11.

{a) 10.00 AM. — 12 noon {h) 12 noon — 2,00 P.M,

(c) 1.00 P.M. — 2.00 P.M. {d) 2.00 P.M, — 4.00 P.M,

A monkey climbs 30 feet at the beginning of each hour and rests for a while
when he slips back 20 feet before he again starts climbing in the beginning of
the next hour. If he begins his ascent at 8.00 am_, at what time will he first
touch a flag at 120 feet from the ground ? (M.B.A. 1997)
{a) 4 p.m. ib) 5 p.m. c) 6 p.m. (d) None of these
Directions (Questions 12 fo I4) : Study the following information carefully

and answer The guestions given below it : (B.B.LP.O. 1997)

xe: The

12.

13.

14.

lai'

16.

17.

18,

(I} Kamal is available at home from 12 noon to 4 p.m. on Tuesday, Thursday
and Sunday.
(II} His younger brother Navin iz available at home on Monday, Thursday,
Friday and Sunday between 10 a.m. to 2 p.m.
(I} The eldest brother Rajiv is available between 9 a.m. to 12 neon on Monday,
Wednesday and Thursday and 2 p.m. to 4 pm. on Friday, Saturday and

Sunday.
At a time, on which day of a week all the three brothers are available at home 7
(o) None (k) Sunday {2} Thuraday
(d) Cannot be determined (2) None of these
For how many days only one brother is available at a particular time in a week 7
{z) One ib) Two e} Three (d) Four (e) None of these

On which day(s)} of a week, the youngest and the eldest brothers are available
at home at the same time 7

{a) Only Monday 16) Only Thursday (e) Only Friday

{d) Both Monday and Thursday (¢} Both Sunday and Friday

If the day before yesterday was Thursday, when will Sunday be 7

{a) Today (b Two davs after today

ie) Tomorrow (d} Day after tomorrow  (Bection Officers' 1993)
If the day before yesterday was Saturday, what day will fall on the day after
tomorrow 7 (C.B.1. 1993)
(a) Friday (b) Thuraday ic) Wednesday (d) Tuesday
Mohini went to the movies nine days ago. She goes to the movies only on Thursday,
What day of the week is today ? (Railways, 1984)
(a2} Thuraday ib) Saturday {c) Sunday {d) Tueaday

If the third day of a month is Monday, which of the following will be the fifth

 day from 21st of the month ?

19.

Information Provided*here 1is5 o

(o) Monday b)) Tueaday () Wednesday

{d) Thursday {2) None of these

1.12.91 is the first Sunday. Which is the fourth Tuesday of December 91 7

(@) 17.12.91 (b) 24.12.91 (c) 26.12.91 {d) 31.12.91
(C.B.L 1994)

If Thursday was the day after the day before vesterday five days age, what is

the least number of days ago when Sunday was three days before the day after

tomorrow 7 (Railways, 1994)

{a) Two (b} Three (c) Four () Five

Origina.
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21. If the 25th of August in a year is Thursday, the number of Mondays in that
month is {8.5.C. 1996)
{a) 3 b)) 4 {c) B id) 6

22, If 1st October is Sunday, then 1st November will be (C.AT. 1997; R.R.B. 1898)
{a) Monday (h) Tuesday () Wednesday id) Thursday

23, If 3rd December, 1990 iz Sunday, what day is 3rd January, 1991 7 (8.8.C. 1994)
(a) Tuesday by Wednesday (e} Thursday (d) Friday

24. If February 1, 1996 is Wedneaday, what day is March 3, 1996 7 (M.B.A. 1996)
{a) Monday (b} Sunday () Saturday id) Friday

25. If the first day of the year (other than the leap year) was Friday, then which
was the last day of that vear ? (8.8.C. 1986) |
{a) Monday (b) Friday (e} Saturday (d) Sunday

28. If 18th February, 1997 falls on Tuesday then what will be the day on 18th
February, 1999 7 (Railways, 1998)
{a) Monday (b)) Tuesday (e} Thursday id) Friday

27. How many days will there be from 26th January, 1996 to 15th May, 1996 (both
days included) ?
{a) 110 ih) 111 (c) 112 id) 113 {e) None of these

28. Whict two months in a year have the same calendar ?
{a) June, October ib) April, November
{c) April, July {d) October, December

ANSWERS

1. (b} : According to Kailash, Deepak’'s birthday falls on one ufthe days among 21st, 22nd,

23rd, 24th, 26th, 26th and 2Tth May.

According lo Geeta, Deepak's birthday falls on one of the days among 13th, l4th,
15th, 16th, 17th, lBIh.r 19th, 20th and 21st May.

The day common to both the groups i1z 21st May.
. Deepak’s birthday falls on 21st May.

2. {d) : According to SBangeeta, the father's birthday falls on one of the days among 9th,

a

4.

5.

10th, 1ith and 12th December. According to Natasha, the father's birthday falls on
one of the days among 10th, 11th, 12th and 13th December.

The days commen to both the groups are 10th, 11th and 12th December. So, the
father's birthday falls on any one of these days,

(e} : Clearly, according to Bunita, the distance was more than 12 kms but less than 14
kmeg, which is 13 kma.

(b} : Ashish leaves his house at 6,40 a.m.
He reaches Kunal's house in 25 minutes i.e., at 7.05 a.m.
Baoth leave for office 15 minutes after 7.05 a.m. ie., at 7.20 a.m.

ie) : Clearly, Ajay left home 10 minutes before 840 a.m. ie, at 8.30 a.m. But it was 15
minutes earlier than usual. So, he usually left for the stop at B.45 a.m.

6. (b) : Anuj reached the place at 08.16 hours.

Clearly, the man who was 40 minotes late would reach the place at 08.45 hours.
Sa, the scheduled time of the meeting was 08.05 hours.

7. 1b) : Clearly, the last bell rang 45 minutes before 745 a.m. Le, at 7.00 am. But it happened

five minutes before the priest gave the information to the devotee, So, the information
was given at 7.05 a.m. =

i here is only for reference.It may wvary the Origina.
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B, (e} :

8. (c):

10. (b} :

11. (e} :

Clearly, the last train left two and a half hours before 18.00 hours {.e. at 15.30 hours,
But this happened 40 minutes before the announcement was made. So, the announce-
ment was made at 16.10 hours,

Diesk officer received the application on Friday.

Clearly, the application was forwarded to the tahle of the senior clerk on Thursday.
So, the application was received by the inward clerk on Wednesday.,

Clearly, the computers would be used most when all the three groups are working
simultanecusly and this happens during the period 12 noon to 2 p.m.

Clearly, the monkey climbs 10 feet in one hour.

8o, it will climb upto a height of 20 feet in 9 hours Le, at 5.00 p.m. It will then
ascend a height of 30 feet in the next hour to touch the peak at 6.00 p.m.

Questions 12-14 |

We prepare a table as under :

| Mon Tue Wed Thu Fri Sat Sun
|9 am. to 10 am | R R R
|10am 12noon | NR | R N, R N N
12 noon to 2 p.m. N | K | KN N K, N
2 pm. to 4 pm. | - j K R R KR
12. (a) : Clearly, all the three brothers are not available at the same time on any day of the
woek,
13. (d) : Clearly, one brother is available at & particular time on all seven days of the week.
14. () : Clearly, Navin and Rajiv are available at home st the same time on Monday and
Thursday
15. (¢) : If day before vesterday was Thursday, so today is Saturday.
. Tomorrow will be Sunday.
18. {c) : If day before vesterday was Saturday, so today is Monday.
Thus, tomorrow will be Tuesday and day after tomorrow will be Wedneaday.
17. {b) : Clearly, nine days ago, it was Thursday.
. Today is Saturday.
18. {c) : The 3rd day is Monday. Seo, the 10th and 17th days are also Mondays.
Thus, the 21st day is Friday.
. The fifth day from the 21st will be Wednesday.
18, (b): 1.12.91 is the first Sunday of December 91.
So, 3.12.91 is the first Tuesday of the month.
Clearly, 10.12.91, 17.12.91, 24.12.91 and 31.12.91 are also Tuesdays.
So, 24.12.91 is the fourth Tuesday.
20. (a) : Day after the day before vesterday iz vesterday.
Now, five days ago, yesterday was Thursday.
So, five days ago, it was Friday.
. Today is Wednesday.
Now, three days before the day sfter tomorrow is yesterday.
Now, it is on Monday that we say Yesterday was Sunday’,
21. (c) : 25th August is a Thursday.

So, 22nd August is 8 Monday.
8o, Mondays fall on 1st, 8th, 165th, 22nd and 28th of August,
Thus, there are five Mondays.
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22. () : Clearly 1st, 8th, 15th, 22nd, and 29th October are Sundays.
So, 318t October is Tuesday.
. lst November will be Wednesday.
28. (b) : Clearly, 3rd, 10th, 17th, 24th and 31st December 1990 are Sundays.
So, 1st January 1991 is Monday and 3rd January 1991 is Wedneaday.
24. (2): 1996 ia a leap vear and so February has 29 days.
Mow, 1st, 8th, 15th, 22nd and 29th February are Wednesdays.
‘5o, 1st March is Thursday and 3rd March is Saturday.
25. (b) : Lfthﬂ_vaarianntalmp!ﬁnllwnmniutdnynfthﬂyenrhthn same a8 the first
ay.
28. (c) : 18th February, 1897 was Tuesday.
So, 18th February, 1998 was Wedneaday.
. 18th February, 1999 will be Thursday.
27. (b) : Number of days = (6 + 20 + 31 + 30 + 15) = 111.
Note : 1988 is a leap year. 5o, number of days in February = 29,
28, (¢} : Two months will have the same calendar if the period between them is divisible by
7. Now,
(a) June + July + Aug. + Sep. =30+ 31 + 31 + 30 = 122 (not divisible by T)
(b} Apr. + May + June + July + Aug. + Sep. + Oct.
=30+31+30+31+31+30+31
= 213 (not divisible by T)
(c) Apr. + May + Jung =30 + 31 + 30 = 91 (divisible by T}
{d) October + November = 31+ 30 = 61 (not divisible by T)
a I“n:'.:-J.-.'s.:tior Provided here is anly foar re :erelz.'.:e It may ary the \:::J:i‘;l'_"- 3



12. MATHEMATICAL OPERATIONS

This section deala with questions on simple mathematical operations. Here, the
four fundamental operations — addition, subtraction, multiplication and division and
also statements such as Tess than', ‘greater than', ‘equal to, *not equal to', ete. are
represented by symbols, different from the usual ones. The guestions involving these
operations are set using artificial symbols. The eandidate has to substitute the real
signs and solve the questions accordingly, to get the answer.

TYPE 1 : PROBLEM-SOLVING BY SUBSTITUTION

In this type, you are provided with substitutes for various mathematical symbals,
followed by a question invelving caleulation of an expression or choosing the correct/
incorrect equation. The candidate is required to put in the real signs in the given
equation and then solve the questions as required.

Note : While solving a mathematical expression, proceed according to the rule
BODMAS — ie., Brackets, Of, Division, Multiplication, Addition, Subtraction.

g, (36-12)+4+6+2x3=24+4+6+2 =3 (Solving Bracket)

=6+3=3 {Solving Division)
=6+9 (Solving Multiplication)
=15 (Selving Addition)

| ILLUSTRATIVE EXAMPLES |

Ex. 1. If ‘+" means ‘divided by', *-" means ‘multiplied by", <" means ‘minus’ and *+
means ‘plus’, which of the following will be the value of the expression
16+8-4+2x47 {Bank P.0. 1985)
{a) 16 (&) 28 fe) A2 {d) 44 {e] None of these

Sol. Putting the proper signs in the given expression, we gel :
16+8x4+2-4=16+8Bx2-4=16+16-4=32~4=28
So, the answer is (b).

Ex. 2. If + means +, -~ means », + means + and = means -, then
IWx12+4+6+2-3=7

(@) 2 () 18 (c) 42 (d) 8 % (o) M- of Thnee

Bol. Using the proper signs, we get :
JE-12:4+6+2x3=36-3+3=3=36-3+9=45-3=42
So, the answer is (c).

Ex. 3. If A means "plus’, B means ‘minus’, C means ‘divided by’ and D means ‘multiplied
by',then IBA12CED2RBE =17 {B.5.RLB. 1696)
{a) 15 (b)Y 26 | (e} 27 {d) 45 {e} None of these

Sol. Using the proper signs, we get :
Given expression = 18 + 12 +6x2-5=18+2=2-5

=18 +4-5=mB23-5=1T,

So, the answer is (e).
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Ex. 4. If = stands for -, + stands for +, + stands for + and - stands for =, which
one of the following equations is correct ? (8.5.C. 1996)
(@) 156 -5+6=x20+10=6 b}8+10~3+5=x6=8
e)6x2+3+12-3=15 d13+7-5x10+3=10

Sol. Using the proper signs, we get :
Expression in (@) =16 x5+5=-20+ 10=16x5+5-2=T6+5-2="T8,

Expression in{h}=_B+1l]13+5—E=S+1ux%:E=B+B—E=E.

Expreaninnin[n]=E—2+3+12xa=5—%+35=¢2—%=%-
I 5
10

Expression in (d) =3+ Tx5-10+3=3+Tx5- 3 =3+35_1.':'I_0=

3

.. Statement (b) is true.

Ex. 5. It being given that : > denotes +, < flenotes —, + denotes +, - denotes =, =
denotes ‘less than® and x denotes ‘greater than’, find which of the following
is a correct statement. !

) 34+2>4m8+3<2 B)3-2>4=18+3<1
c)3>2<4xB+4<2 d)3+2<4x943<3

Sol. Using proper notations, we have :

{a) Given statement i8 3+2+4<9+3-2 or %-: 1, which is not true.

(b) Given statement i8 3+2+4<18+3-1 or 9 <5, which is not true.
() Given statement is 3+2-4>8+4-2 or 1> 0, which is true.

{d) Given statement i8 3+2-4>89+3-3 or —%:ﬁ. which is not true.
So, the statement (c) 18 true.
| EXERCISE 12A |

1. If = stands for ‘addition’, + stands for ‘subtraction’, + stands for ‘multiplication’
and - stands for ‘division’, then

20xB+8-4+2=7 (Transmission Executives' 1904)
{a) BO by 25 (c) 24 {d) &
2, If - means =, x means +, + means + and + means —, then .
W0 x12+3-6+60="7 (Bank P.0O. 1893)
(a) 7.96 {b) 16 (c) 44 id) 479.95 (¢} None of these
3. If + means +, » means -, + means x and - means +, then
B+6x4+3-4=7 (Bank P.O. 19894)
(a) -12 b)) - %E T (e 12 (d) % (e) None of these
4. If « means +, - means =, + means + and + means —, then
(3-15+19xB+6="7 {Assistant Grade, 1988)
(a) B b) 4 c) 2 d) -1
6. If + means =, + means -, * means + and - means +, what will be the value of
4+11+5=-56="7 (L.LC. 1994)
{a) - 48.5 b -11 c) 79 d) 91 (e} None of these
r v

The Information Prowvided here is only for reference.It may wvary the Origina.
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6. If = means +, + means —, - means x and + means +, then
8xT7-8+40+2=7 {(Bank P.0. 1898)
@i BT g (c) a% (d) 44 (e) None of these
7. If + means -, — means x, » means + and + means +, then
. 15x3:+16+5-2a7 (8. B.1.P.O. 1994)
e} 0 (h) & {c) 10 () 20 (g} None of these
B. If = means -, + means +, — means = and + means +, then
15-2+ 900 + 90 = 100 =17 {B.5.R.B. 1895)
(@) 190 (b) 180 (ch 90 {d) O (e} None of these

11.

12.

13.

14.

15.

16.

17.

18.

If + means +, - means x, + means —, = means + what will be the value of
B+6+4-T=37
(a) —% 5 —-2; (c) 12 {d) 14 (e) None of these
If + means +, - mMeans +, x means - and + means =, then
(36 x4)-8B=4 =
4+8=2+16=1
fa) O (b 8 (e} 12 i} 16
If P denotes +, @ denotes =, R denotes + and 8 denotes -, then
IBEQI12P4RES8E=7
{a) 36 {h) B3 {c) GO ) 65 (e} None of these
If a means ‘plus’, b means ‘minus’, ¢ means ‘multiplied by’ and d means ‘divided
by', then 18c14ab6bl6d4="7 {B.5.R.B. 1996)
(@) 63 (b) 254 {c) 288 (d) 1208 e} None of these
If A means -, B means +, C means + and [} means =, then
1I5B3C24A12D2=7 {Bank P.0. 1996)

@3 B2 (e) g (d) - 23 "5 (¢) None of these

If x stands for ‘add’, ¥ stands for ‘subtract’, z stands for ‘divide’ and p stands
for ‘multiply’, then what is the value of (Tp3)y6x57 (U.ILC. 1994)
{a) 5 by 10 c) 15 () 20

If A stands for +, B stands for —, C stands for =, then what is the value of
(CHAMCHESR? {Assistant Grade, 1882)
la} 6O by 56 {c) 50 {d) 46

If L denotes =, M denotes +, P denotes + and @ denotes -, then

6P2aMBeQeM2LE="7
13 1

() 3 (B) - 8 e} H% {d) 10 {e) None of thesa

If - means +, + means », + means -, » means +, then which of the following
equations is correct 7 (C.B.I. 1887)
o) 62+4+5=8-2=36 b} 43 =xT+5+4-8=25

) 38 x4-12+5+3 =420 (d) 36 -12=68+3+4=80

If = means ‘addition’, - means ‘division’, + means ‘subtraction’ and + means
‘multiplication’, then which of the following equations is correct 7 (8.8.C. 1998)
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(@) 16x5+10+4-3=19 by 16+65+10=x4-3=90
) 16+5-10x4+3=9 (d)16-5=10+4+3=12
19. If + stands for ‘division’, = stands for ‘addition’, - stands for ‘multiplication’ and
+ gtands for ‘subtraction’, then which of the following equations is correct ?
@) 3Ex6+T7+2-6=20 by 36 +6+Ax5-3=45
()36 +6-3x6+3=24 ) 36-6+3=5+3=T4
{Assistant Grade, 1994)
20. If P denotes +, Q denotes -, R denotes » and 8 denotes +, which of the following
statements is correct 7
{a) 3BR4SBQTP4=10 (5) 1I6R12P 4987 Q9 =200
ic)3288R9=160Q 12R 12 d) BRBEPESEQ8=57

21. If L denotes +, M denotes «, P denotes + and Q denotes —, then which of the
following statements is true 7

(@) 32P8L16Q4 =3 ) 6M18Q26L13PT =173
) 11M34L17Q8L3=% @ 9P9ILOQOMY =171

22, If = stands for ‘addition’, = for ‘subtraction’, + stands for ‘division’, > for ‘multi-
plication’, - stands for "equal to’, + for ‘greater than' and = stands for ‘less than',
state which of the following is true ? (U.D.C. 1994)

(@) Ix2<4=:16>2+4 ) 5>2+2=10<4=8

i) 3=x4>2-9+3<3 (d)5x3<T+8+4x1

Directions (Questions 23 to 27) : If > denotes +, < denoles -, + denotes
+, A denotes =, — denotes =, = denotes > and = denotes <, choose the correct
statement in each of the following guestions.

23. (a)B+3>8=4+2=1 B)4=>6+2x32+4<1
fe) B<d4+2=6>13 (dy14+7>3=6+3>2
24. (a) 14>18+9=16+4<1 (B)4>83~B<1-6+2>24
e} 3<BAd>26=8+4=>1 d)12>9+3<B8«25+5>6
25. (@) 13>T<6+2=34 (b)9>5>4-18+9=16
e) 9<83<2>1x8.2 d) 28+ 4,2=06-4+2
26, (o) 29<18+6=36+6~ 4 (b 1#}12+4x7>5ﬂ2
) 32>6+2=6<T2 (dy31>1<2=4-6-7
27. @) T>T<T+7=14 B TAaT2T+T=TnT>1
) T<T+T=6 d})7+7>7=8
Directions (Questions 28 to 32) : In each of the following questions, dif-
ferent alphabets stand for various symbols as indicated below :
Addition : O Subtraction : M Multiplication : A
Division : § Egqual to : X Greater than : Y
Less than : Z (I. Tax & Central Excise, 1996)

Out of the four alternatives given in these questions, only one is correct
according to the above letter symbols. Identify the correct answer.

28 @)2Z2A401A4M8 BYBYZ2AIA4Q2A4
) I0X202A401M2 d)12X402Q1A4A2
L | L] ’
Information Provided here is only for reference.It may wvary the Origina.
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20, @)101Q1M1Y3Q1
©302010Q2X10A2
30. @)302X2Q1lA301
©)10A2Z22Q2A10Q2
S1. ()32 XB8Q2A3Q1lAZ2
©2Y1A1Q101A1
82 @)BQ4AIM2X16MI16
©6Q20101X16A1

rancesxams.io

)2Q1010A1Z6A4
(d)5Q5A50B6Y5A2
b)6M2Y10Q2A301
(d)10A2Y2Q1A10Q2
B 14X2A4A2M2Q1
(d)16YBA301A2M2
(h)802A12Q10X18Q89
@203M4Q2Z1A2
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Directions (Questions 33 to 37) : In the following gquestions, different letters
stand for various symbols as indicated below :

R : Addition 8 : Subtraction
U : Division V: Equal to

X : Less than

T : Multiplication
W : Greater than

Out of the four allernatives given in these questions, only one is correct
according to the above letter symbols, Identify the correct one,

33. (@ I6T2Z2R4UGXS
c)6T2U4VERS
@) 20U4R4X2T3
)20T4U4U2X3
@16 UBR3V2T3
) 15S6T3IW2ZR3
@24 U3RZS2ZWSE
)24 R3S8S2X2T8 -
@3 REUZWA4TS
©)30S6U2U4V3

S 8 8 K

(B) E6R254VE6RS
dIEUZR456WS
b)2054U4V2T3
d)20R4U482W3
b)1IBUBW3IR2ZT3Z
d)I5R5U3V2R3
(b)24 83X2T2UB
d)24U3T2VITS8
b)308682X4T3
dWUBR2WA4AT3

ANSWERS

1. (¢} : Using the correct symbols, we have :
Given expression =20+ B -8 +4 =2
=20+B=2x2 w0

2. (e} ; Using the correct symbals, we have :

+8-4=24.

Given expression =40 + 12 + 3 = 6 - 60
=d0+4d=6-60=40+24 - 60 = 4.

8. (&) :_Using the correct symbaols, we have :
Given expression =B+68-4=3+4
4 4

—§—4x3+4l§—

4. (c) : Using the correct symbols, we have -

IE+4=_T2'}-

Given expression = ({3 x 15+ 19)+B-&
=(46+19+8-6=64 +B-B=8-6=2.

b. () : Using the correct symbols, we have -

Given expression =4 x 11 -5+55=44 -5+ 556 =94,

C8.th): Using the correct symbols, we have :
Given expression =8+ 7«8 +40-2

=ﬁ+7!l—2=3+1—2=

il
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9. ia):

10, ta) :

11 ib) :

12. th) :
18. {e) :

14, (d) :
16. (cl:

16, id) :

17. (e} .

19. (d) :
] 20. id)
21. id) ;
22, (k)
23. (e

24. (6):
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Using the correct symbols, we have
Giiven expression =15+ 3+ 15-5 x2=8+15-6x2=6+16-10=10.
Using the correct symbaols, we have :
Civen expression = 15 = 2 + 000 = 90 - 100
=152+ 10— 100 =30 + 10 - 100 = < 60.
Using the correct symbole, we have :
Ciiven expression =B +6 -4 =T+ 3
-4 -4xTe33-28.3-- T
Using the correct symbals, we have :
_Lﬁﬁ--‘ﬁtﬂ -4_
4x8-2x16+1
_B2+8-4 4-4
- - T R
Llaing the correct symbols, we have :

Given exXpression =

(nven expression = [Bx 12 +4+5 -6
=18=3+5-6=54+5-6=25d

Using the correct symbaols, we have :

Given expression = 18 =14 +8 - 16 + 4
=18 = 14 +6 -4 =252 + § ~ 4 ~ 254,

Using the correct avmbols, we have :

(Given expression =15+ 3+ 24 - 12« 2
=5+24-12x2=26+24-24=5

Using the correct symbols, we have :

Given expression = (7T <3} -8+5=21-6+ 5« 20,

Using the correct symbals, we have :

Given expression = (10 « 4] + (4 = 4) = 6 =40 + 16 - 6 = 50.

Using the correct symbals, we have ;

Chiven expression = 16+ 24 +8-6+2=3
=18+8-3x3=168+3-9=10,

Using the proper notations in (a), we get the statement as

52-4dx5+B8+2=s52-4ub5+4=52-20+4=36

Using the proper notations in (c), we get the statement a=

16=5+10+4-3= 16x;t4-3=3_+4—3=9.

Using the proper notations in (d), we get the statement as

B66+3+5-8=36=x2+5-3=T2+5-3=T4.

Using the proper notations in (d), we get the statement sz

BxB+B+8B-HsBxB+]1-B=64+1~-8Bm5T7.

Using the proper notations in (d), we get the statement as

B+0+0-0x0=04+1-0x08=04+1-B1=-7L

Using the proper notations in (b}, we get the statement as

5x2+42<10-4+8 or §<14, which is true.

Using the proper notations in (¢)f; we got the slatement ag

B-4:2<6+83 or 6<% which is true.

Using the proper netations in (b), we get the statement as

4+3xB-1=6+2+24 or 27 =27, which is true.

Reasoning

vary the Origina
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25. (b :
28. (d) :
7. la) :
28. (a):
20. (h) :
30. (d) :
31. 1b) :
3.1‘ {a) :
33. (6) :
34. (d) :
35. (a) :
38. () :

37.fa):

Using the proper notations in (b}, we get the statement as
G+5+4=18+9+16 or 18 =18, which ig true. '
Using the proper notations in (), we get the statement as
31+1-2<4+6=T or 30 <46, which is true.

Using the proper notations in (a), we get the statement as
T+7-7+7<14 or 13 < 14, which is true.

Using the proper notations in (a), we get the statement as
2z2x4+1x4-8 or 2 =4, which is true.

Using the proper notations in (b), we gel the statement as
2+1+10=x1<6x4 or 12 < 24, which is true.

Using the proper notations in (d), we get the statement as
10 =22+1=10+2 or 20> 10, which is true.

Using the proper notations in (b), we get the statement as
14=2ud=2-2+1 or 14 = 14, which is true.

Using the proper notations in (z), we get the statement as
B+dx1-2=16-16 or 0=0, which is true.

Using the proper notations in (b), we get the statement as
16+2-4=06+8 or 14 = 14, which is true.

Using the proper notations in (d), we get the statement as
20+4+4-2>3 or 19> 3, which is trus.

Using the proper notations in {a), we get the statement as
16+5+3=2=3 or 6=6, which is true.

Using the proper notations in (d), we get the statement as
24+3x=2=2x=8 or 16 =16, which is true.

Ugring the proper notations in {a), we get the statement as
30 +6+2>4x3 or 33 =12, which is true.

Ex. 1.

Ex. 2.

: The Information Provided here

‘TYPE 2 : INTERCHANGE OF SIGNS AND NUMBERS

If the given interchanges namely : signs + and + and numbers 2 and 4 are
made in signs and numbers, which one of the following four equations would
be correct 7

(@) 2+4+3=3 b)4+2+6=15 c)d+24+3=4 d)2+4:8=8
Interchanging + and + and 2 and 4, we get : =

{a) 4+2+3=3 or 5=3, which is false.

ib) 2+ 4+6=15 or 6.5=15, which is false.

% = 4, which is false.

(d}4+2+6=8 or 8=8, which is true.

Which one of the four interchanges in signs and numbers would make the
given equation correct 7

ic)2+4+3=4 or

3+5-2=4
{a) + and —, 2 and 3 {b) + and -, 2 and 5
{c)+and —, 3and 5 * {d) None of these
By making the interchanges given in (a), we get the eguation as
2-5+3=4 or 0=4, which is false,

M
-
1]
]
=1
=
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By making the interchanges given in (b), we get the equation as
2-2+56=4 or 6=4, which ia falss.

By making the interchanges given in (c), we get the egquation as
§-3+2=4 or 4=4, which is true.

So, the answer is (c).

| EXERCISE 128 |

Dimﬁm(MinmIlnﬂ:Iumlnrmmmlflh
given interchenges are made in signs and numbers, which one of the four
equations would be correct ?

1. Given interchanges : Signs - and s and numbers 4 and &-

gy B-RB+d=-1 B B-B+4=1
el 4+8-2=86 d)4~8+6=2
2. Given interchanges : Signs + and = and numbers 4 and 5.
(o} 6% 4 +20=40 (b)) 5wxd+20=85
(e} B=4+20=10 (d) 5x4+20=95
4. Given interchanges : Signs + and - and numbers 4 and 8.
fah 4+8-12=16 b)4-B+12=0
(VB+4-12=24 (d) 8-4+12=8
4. mvmmmm:ﬂm—mduMnmﬂmiﬁ.
@) 6-3=2=9 (b)3-8%8=10
c)Bx3-4=15 g (d)3=6-4=33
5. Find out the two signs to be interchanged for making following equation correct :
G+3xB-1244=3 (C.AT. 1997)
{a) + and - (b) - and + (e) + and = (d) + and +

Directions (Questions & to I : In each of the following guestions, an
equation becomes incorrect due to the interchange of hwo signs. One of the
four alternatives'under it specifies the interchange of signs in the equation,
which when made will make the equation correct. Find the correct alternative.

(U.D.C. 1881}
6. 5+6+3-12=x2=17
{a) + and = (B) + and = {e) + and + (d) + and -
LT 2x34+68-12+4=17

{a) = and + (b} + and - {e) + and + d) — and +
B 16-B+4+5x2=8

(@) + and = {h) — and + e) + and + (d) - and =
B 9+5+dxJ-6=12 .

{a) + and = {b) + and x (c) + and - {d) + and -

1 12+2-%x3+8=16

{a) + and + ib) —~and + {c) = and + id) + and =
11. Which of the following two signs need to be interchanged to make the given

equation correct 7 (M.B.A. 1987)

10+104 10-10x 10 =10

{a) + and - {b) + and + {¢) +and x (d) + and +
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Directions (Questions 12 to 16) : In each of the following gquestions, the
two expressions on either side of the sign (=) will have the same value if two
ferms on either gide or on the same gide are interchanged. The correct terms
to be interchanged have been given as one of the four alternatives under the

expressions. Find the correct alternative in each case. (CLAT. 1987)
12, 5+3xB-4+2=4x3-10+2+7

(a) 4, 7 (b) 5, T- {c) 6, 4 (d) &6, 10
13, T22-3+B+d4=5+6x2-24+3

{a) 2, 6 (b} B, B ‘le) 3, 24 : d) 7,6
14. 15+3=x4-8+2=8=x5+16+2-1

(@} 3, 6 b) 15, & ’ (c) 15, 16 (d) 3, 1
15, 63 +E6+2-1=0-8+4+5ux2

{a) 3, 4 (b 3, 56 c) &, 6 {d) 8, 5
18. 8+2x5-114+9mBx2-5+44+2 E

(a) 5, 8 {b) B, b (e} 9, 6 {d) 11, 5

Directions (Questions 17 to 30) : In each of the following guestions, which
one of the four interchanges in signs and numbers would make the given
equation correct ?

17. 6=x44+2=18

{a) +and =, 2 and 4 (b) + and =, 2 and 6

{e) + and =, 4 and 8 (d) None of thess
1B. (3+4)+2=2

{a) +and +, 2 and 3 (b) + and +, 2 and 4

(c) +and -+, 3 and 4 (d) No interchange, 3 and 4
19, 446-2=14 '

{a) = to+, 2 and 4 (b) ~to +, 2 and 6

c) -to+, 2and 6 {d) »to+, 4 and &
20. (6+2)x3=0

(a) + and =, 2 and 3 (b) = to -, 2 and 6

fc) +and =, 2and 6 d) =to—, 2and 3

ANSWERS

r
L. {c) : On interchanging - and + and 4 and & in {c), we get the equation as
- B-4+2=6 or B-2=8 or 6 =8, which is true.

2. (e} : On interchanging + and » and 4 and 5 in (c), we get the equation as
4+ 6x=20 =104 or 104 = 104, which is true.

3 (b} : On interchanging + and - and 4 and 8 in (), we get the equation as
B+4-12=0 or 12-12=0or 0 =0, which is troe.

4.(5): On interchanging - and %'and 3 and 6 in (b), we get the squation as
6r3-8=10 or 18 -8=10 or 10.= 10, which is true,

B. (b} : On interchanging - and +, we get the equation as

G+dx8+18-4=3 or ﬁ+3x§—1=3 or 3= 3, which is true.

6. {a) : On interchanging + and =, we get :
Given expression =5 +6x3-12+2ab5+6x3-6=6+18-6=17.
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. T.(ad:
B. (b} :

8. ic):

10. (b) :
11. 42} :
12. (e} :
13. {d) :
14. (a) :
15. (d) :

16. (c) :

17. (e} :
18. {a) :
18, {c) :

20. id) :

Reasuning

On interchanging = and +, we get :
Given expression =2+ 3 x6-12+4=2+3x68-3=2+18-3 =17,
On interchanging - and +, we get :
Given expression =18 +8=-445x2=22-4+6x2=2-4+10=8.
On interchanging + and -, we get :

Given expression -ﬂ+E—is3+$=9+5—11%=9+5—2=12.

On interchanging - and +, we get :

Given expression =12+2+6x3-B=6+6=3-8B=6+18-8=16

On interchanging + and =, we get the equation as

10« 10+10-10+10=10 or 10=1-10+ 10=10 or 10 = 10, which is true.

On interchanging 6 and 4 on LLH.S., we get the statement as
5+3x24-6+2=4=x3-10+2+Tor5+12-3=12-5+7or 14 = 14, which is true.
On interchanging 7 and 6, we get the statement as
Be2-3+B+4=5+Tu2-24+3orl2-3+2=5+14- Borll-ll which is true.
On interchanging 3 and 5, we get the statement as
16+6xd4-B+2=Bu8+16+2-1orl5+20-4=24 + 8 -1 or 31 = 81, which is true.
On interchanging 9 and 6 on RH.8., we get the statement as
GxF3+8+2-1=5-8+4+9x2or 18+4-1=6~2+18 or 21 =21, which is true.
On interchanging 9 and 6, we get the statement as
B+2x85=~11+6mBx2-85+4+2 or 4u5-11+6=18-5+2 or 15=15, which is
true.

On interchanging + and = and 4 and 6, we get the eguation as
4+6=2=16 or 4+12=16 or 16 = 16, which is true.

On interchanging + and + and 2 and 3, we get the equation as
(2+4)+3=2 or 6+3=2 or 2=2, which is true.

On changing - to + and interchanging 2 and 6, we get the equation as
4x2+6=14 or B+68=14 or 14 = 14, which is true.

On changing » to - and interchanging 2 and 3, we get the equation as
(B+3)-2=0 or 2-2=0 or 0=0, which is trae

Ex. 1.

TYPE3: DEﬁT’ﬂHG THE APPROPRIATE CONCLUSIONS

It being given that » denotes ‘greater than', ¢ denotes ‘equal to', < denotes
‘not less than', L denotes ‘not equal to’, .ﬁ.dgnutea‘lﬂant.han aﬂd+danotu
‘not gre.ntertha.n, {M.B.A. 1998)
choose the correct statement from the following :

If a xb Ac, it follows that '
(aadcab (byb<axc cla<b+e
de+b<a le)b<adc

Using the usual notations, we have :

(a) : The statement is a > b <¢ = a=c < b, which is false. [+ e>B]
(b) : The statement isa>b<c = b4 a>ec, which is false. [.. b<al
(c) : The statement is a>b<ec = a4 b3# ¢, which is true.

(d) ;: The statement isa>b<ec = ¢3 b4 a, which is false. [ b<al
() : The statement isa>h<e = b4 a=e, which iz false. [ b<al

Hence, the statement {2) is true.

he Information Prowvided

i
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Ex. 2.

In the following questions, the symbols + *, = @ and @ are used with the
following meanings : {8.B.LP.0. 1997)
‘A * B’ means ‘A is greater than B';

‘A * B' means ‘A is either greater than or equal to B}

‘A = B’ means ‘A is equal to B’

‘A @ B' means ‘A is smaller than B’

‘A @ B' means ‘A is either smaller than or equal to B'."

Mow, in each of the following questions, assuming the given statements to
be true, find which of the two conclusions I and IT given below them is/are
definitely true ?

Give answer {a) if only conclusion 1 is true; (b) if only conclusion II is true;
i) if either 1 or IT is true; (d) if neither [ nor IT is true and (e} if both I and
11 are true. .

1. Statements : M=T, T@Z, 5= M

Conclusions : L. Z » M ImL.Z=M
2. Statements : R@M, M+P, R+L
Conclusions : L M=L IL. P=L
3. Statements : L&@C, C+Z, Z@F
Conclusions : [. C+F II. F=C
4. Statements : Z@B, N+S, BEN
Conclusions : [. B=Z I. S&B
5. Statements : T+P, P&5, P=M
Conclusions : I. S+ M II. Ta@s
Sol. 1. Given statements : M=T, T=<Z, 5=M

Now, to verify conclusions | and II, we need to find a relation between Z
and M.
2zT, T=M = Z:zM
= Z>Mor Z=Mie, Z+M or =M.
Bo, either I or II follows. .
Hence, the answer is (c).

2. Given statements : R=M, M=F, R=L

L

Relation between M and L :

M>R R>L = M2L ie, M+L.

So, 1 18 not true.

Relation between P and L.

P<M, MR, RzL = no definite conclusion.
So, I is alzo not true.

Hence, the answer is (d).

3. Given statements : L<C, C>Z, Z<F.

Clearly, we find a relation between C and F.

C>2, Z=F = no definite conclusion.

8o, neither 1 nor II is true.

Hence, the answer is (d). -
4. Given statements : Z<B, Nz28§, B<N. ~ .

I. Relation between B and Z

The

Clearly, B>Z ie, B+ Z
So, 1 is not true.

4

Information Provided here is only for reference.

t may wary the Origina.
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I1. Relation between S and B :
S5<N, N>B = no definite conclusion.
So, 1T is also not true.
Hence, the answer is (d).

B. Given statements : Tz P, P<8, P=M

I. Relation between 8 and M :
ExP, P=M = 8>M ie, S+ M
80, I is true.

II. Relation between T and 8 :
Tz=P, P<8 = no definite conclusion.
o, I1 is not true.
Hence, the answer 18 (a).

| EXERCISE 12C |
1. Which of the following conclusions is correct according to the given expressions
and symbols 7 (LLD.C. 1995)
Al B:= C:= b:= E:4 F:e
Expressions : (aEb) and (bEe)
() aEe (&) aFe (c) cBa {d) ¢Bb
2. Find the correct inference according to given premises and symbols
A : Not greater than B : Greater than  : Not equalto
D : Equal to " E : Not less than F : Less than
Premises : (ICm) and (lAm)
(a) IBm - {b) IDm {c) IEm id) IFm

(Transmission Executives’, 1804)
Directions (Questions 3 to 8) : It being given that :
A denofes ‘equal to’; [ denotes ‘not equal to’; + dénotes ‘grealer than®;
- denotes “‘less than'; » denotes ‘not greater than”; + denotes ‘not lese than’,
Choose the correct statement in each of the following guestions :
3. a-b-c implies

@la-b+ec byb+a-c che=x=b+a dyb+a+e
4. a+ b -¢ implies i
fa)b-c-a ibye-b+a icle+b-a (dcxb+a
B. a=b+cmplhes
fala-b+e Byexb+a e)alb0ec (db+axe
6. a+b+e does not imply
(@) h-a+c byc-b-a ehe-a+h {dyb-a-c
7. a+b-c does not imply
fadc+b-a by b—a+e edbDalec (d) None of these
B a b 0Oe implies
@la+b+e bya-b-e cha+b+e (d) None of these

Directions (Questions 8-10) : If « means ‘greater than', p means ‘equal
to', § means ‘not less than', y means ‘less thar', & means ‘not equal to’ and
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n means ‘nol greater than', then which of the four nl'.tsrm:l‘!ui-nnuld be

a correct or proper inference in each of the following {P.C.5.1885)
9. aa2band 2b6r s

{a)anr blaar c)afr dyayr
10. 2x &y and y p 32

{a) y6Bx ib) 2xn 32 {c) 2x 6 3=z (d) 3z ny 3y

11. If A stands for ‘not equal to’ {#), B stands for ‘greater than' (>), C stands for
‘not less than' { 4), D stands for ‘equal to' (=), E stands for ‘not greater than'
#), F stands for less than' (<), then according to the given premises (4x F 5y)
and {6y E 3s), which of the following inferences is correct 7 (C.B.L 1994)
(o) 4x A 3= (b) 4x B 3= {e) 4x C 3a id) d4x D 3s
Directions (Questions 12 to 17) : In the following guestions,
&mnq:‘injmtxriﬁunﬁ % means ‘iz lesgper than’, O] means “is equal to’
= means ‘is not equal o', + means ‘is a little more than', » means is a little
less than’. '
Choose the correct alternative in each of the following gquestions.
12. IfaAb and b +c, then )

{a)a % ble%a cle+a (d) Can't say
13. If¢=a and a =&, then

{a)bAa brela ) bma (d) Can't say
id. Ifa=h and b O ¢, then

falec+a by bAc le)a+e dicOa
15. If ¢ % b and b x a, then

lalaie Bela eYbDOe dicAda
18. If ae + be, then - -

{fa)aOe b bae edeAb (d) b %a
17. If ac % bd and ab A ed, then

@b Oe M bAa ela e {d} Can't say

Directions (Questions 18 lo 22) : In each of the following questions, the
Greek letters standing for arithmetical operations are given. Find the rela-
tionship which can definitely be deduced from the hwo relationships given
at the top.

Operations : a is ‘greater than', P is ‘less than', y is ‘not greater than', § is 'not
lesz than', B is ‘equal to’.

18, If Ao 2C and 2A 6 3B, then

@) CpB b CsB ) CalB ) CeB
19. If 3A o B and 3B a 2C, then
T ja)4AaC : ib) BAaC c) 2A8C {d) JASC
20. 1f B 2C and 3C 1 A, then

(z) B&2A by BOA ic) 3B o 2A d) B A
21. If 3C 5 2A and B a C. then :

(m) 2A o 3B {b) 3B a 24 Yy BaA {d) 3B 6 2A

22. If 3B 0 2C and 2A « 3C, then
(@) B A (b)BOA ) BRA id) BaA
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Directions (Questions 23 to 27) : In the following guestions the symbols
@, @, @ @ and = are used with the following meaning :

@ means ‘greater than'; © means ‘either greater than or equal to'; @ means
‘smaller than'; @ means ‘either smaller than or equal {0 = means ‘equal to'.

Now in each of the following questions, assuming the given statements
to be true, find which of the two conclusions I and IT given below them is/are
definitely true ¥

Give answer {a) if only conclusion I is true; (b) if only conclusion IT is
true; (o) if either I or I is true, (d) if neither I nor II is true and (e) if both
I and II are true.

23. Statements : MEN, L& N, M=P

Conclusions : [. N=P ILNaPp
24, Statements : A@C, M@F, C&F

Conclusions : [. M=A ILC&EM
25. Statements : B@P, C&N, P=N

Conclusions : I. P@cC ILC®&B
26, Statements : HK@P, ZaK KeM

' Conclusions : . Z=-M MzZeM
27. Statements : Z@P, T=M, M@ Z .

Conclusions : . M& Z IL.TaP

Directions (Questions 28 to 32) : In the following questions, the symbols,
©, @ =, = and * are used with the following meanings : (Bank P.O. 1987)

‘P @ Q" means ‘P is greater than Q"

‘P © @' means ‘P is greater than or equal to Q';
‘P=Q"' means ‘P iz equal to Q'

‘Ps Q" means ‘P is smaller than Q"

‘P % Q' means 'P is either smaller than or equal to @

Now in each of the following questions, assuming the given statements
mbehue,ﬂndw#icﬁaﬂhtwnmlmiamlnndﬂghunbelawﬁmirfm
definitely true.

Give answer (a) if only conclusion I is true; (b) if only conclusion II is

true; (c) if either I or II is true; (d) if neither I nor II is true and (e) if both
I and II are true.

28, Statements : POT, M+K, T=K

Conclusions : . T@ M ILT=M
29. Statements : S+M, M@®L, L&Z
Conclusions : . 8=7 IL8+L
30. Statements : D& F, F=8, S+ M
Conclusions : L. D&M ILF&M
31. Statements : J=V, V=N, R+J
Conclusions : L. R+ N ILJ&N
32. Statements :L®U,C+L, COB
Conclusions : I. U=C © ILLL®eB
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Directions (Questions 33 to 35) : In the following guestions :
) ‘P + @' means ‘P is greater than Q’;
‘P «f) ' means ‘P is either greater than or equal to @;
‘P = @ means ‘P is equal to Q;
iP 0@ means ‘P is smaller than Q%
‘P 0 @ means “P is either smaller than or equal to §'.
In each question, a statement is given followed by two conclusions I and

I1. You are to consider each statement and the conclusions that follow and
decide which of the conclusions is/are implicit ¥ {Assistant Grade, 1998)

33. Statements : GOS F=+5 TOG. ¢

Conclusions : |. F+T II. T=8.

(a) Both I and II are implicit ib) Only 1 is implicit

(¢) Neither [ nor Il is implicit (d) Only 1I is implicit
34. Statements : M=N, N«B, BOP

Conclusions : I. P=N IIL.BOM

{a) Only 1 is implicit (&) Only II is implicit

{c} Both I and II are implicit (d) Neither I nor II is implicit
35. Statements :NOT, T=P ;

Conclusions : . P«N ILP=N

i) Either I or II is implicit ib) Only I is implicit

ic) Only IT is implicit ‘ {d) Neither I nor 11 is imp}jcit

Directions (Questions 36 to 39) : Assume the following :
‘A @ B' means ‘A is greater than B
‘A @ B’ means ‘A is either greater than or equal to B
‘A 8 B' means ‘A is equal to B";
‘A * B’ means ‘A is emaller than B
‘A # B means ‘A iz either smaller than or equal te B’

In each question, two statements followed by two conclusions I and Il are
given. Assuming the statements to be true, state which of the conclusions I
and IT islare definitely true ? (MLB.A. 1898)

Give answer (a) if only conclusion I is true; (b) if only conclugion IT is
true; (c) if either I or II is true; (d) if neither I'nor II is irue; and (e) if both
I and IT are true.

36. Statements : P#Q, M* N§ P

Conclusions : 1. M@ P ILN#Q
37. Statements : L * M, R+ T$L
Conclusions : L. T » M ILRER&@L
38, Statements: X @8Y@Z U@ Z3V
Conclusions : I. V* U LXxav
99, Statements : G*H# K H@Q &R
Conclusions : 1. G § Q LR*G

Directions (Questions 40 to 44) : In the following questions, o stands for
‘equal to’; | for ‘greater than'; y for ‘less than® and & for ‘not equal to"

, (Hntel Management, 1996)
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40. If 6x o Gy and 2y p 32; then
(a) 2e f§ 32 (b) 4x pp 32 (c) 2xyz (d) 4x o 3z
41. Ifaxyby, bxacz and b u ac, then
(a) ax pcy (b} ay a ez ehyyz dlypz
42. If abxy a ¢®z, bx pay and b* a ac, then
(a) ax® pez (b) a’® pez () b B’z (@) bx*Pez
43. If bey yax, cy o bz and o y be, then
{a) ex o abz (b} cx yabez (e) cx b abz (d) ¢’ ',-'azz
44. Ifa*xa byz, cex a b%y and %z a axy, then
“{a) abc o xyz (&) abe pxyz (c)ebc bxyz  (d) abeyxyvz

45. fA+B=C+D, B+ E=2C and C+ D> B + E, it necessarily follows that :
e} A+B=2C  (b)A+B=2D c)A+B=2E (d)A=>C
(Hotel Management, 1995)
46, If A+D>C+E, C+D=2B and B+ E> C+D, it necessarily follows that
a) A+B=2D b)) B+D>C+E (e)A+D=B+E idiA+D=B+C

(Hotel Management, 1965)
Directions {Questions 47 to §1) : In each of the questions given below, use
the following notations : (5.B.LP.0O. 19287)
A"B means “add B to A" A'B means ‘subtract B from A%
A @ B means ‘divide A by B’; A * B means ‘multiply A by B’

Now, answer the follmwving questions.
47. The time taken by two running trains in crossing each other is calculated by
dividing the sum of the lengths of two trains by the total speed of the two trains,
If the length of the first train ig Lj, the length of the second train iz Lg; the

speed of the first train is V1 and the speed of the second train is Vi, which of
the following expressions would represent the time taken 7
{a} (Ly" La) » (V1" Va) (B) (Ly" La) @ (V1" Va)
(e} [(L1" L) @ (V1" V)] = 60 (d) {(L1" Lg) @V}’ Va)
. (e) None of these
48. The total airfare is calculated by adding 15% of basic fare as fuel surcharge,
2% of the basic fare as IATA charges and Rs 200 as airport tax to the basic

fare. If the basic fare of a sector is B, which of the following will represent the
total fare ?

{a) B" (B = 15) @ 100" (B = 2) @ 200" 100
(&) B" (B =15)@& 100" (B = 2) & 100" 200
(c) B (B = 15)@ 100" (B = 2) @ 100" 200
{d) B' (B +* 15)@ 100" (B = 2) @ 100" 200
(el _‘NDI']E of these
49. The profit percentage of a commodity is worked out by multiplying the quotient
of the difference between the amount of =ale priee and the total expenses and

divided by the amount of total expenses by 100. If the sale price of an article
is 5, the total expenses are equal to the sum of the cost price (C), transportation
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5l.

eosts (T), labour charges (L), which of the following expressions would indicate
the profit percentage 7

a) (IS —{C+ L+ TH=(C+L+T)=100] (b) [{8" (C"L" Tl @ (C"L" T) & 100]
{e) [18' (C"L" T} @ (C"L" T) » 100] {a) [18" (C'L' Tj} = (CL" T @ 100)
{2) None of these

While considering employeas for prometion, an orgenisation gives 2 marks for
every year of service beyond the first two years, four-thirds of the marks obtained
in an examination oot of %0 marks, five marks for each level of education-matricula-
tion, graduation and post-graduation. Which of the following represents the total
marks a candidate gets if he has put in T years of service, obtained K marks
in the examination and passed Xth, X[Ith and Graduation level examinations 7
(@) (T'2)=»3"5+2"4+T@&3 B (K2)»2"5+3"4«T@3

) (T2)e2" 5«3 "4+ KB3 d)(T2)«2"5+3 "4« K@3

(e} Mone of these

In a semester system of examination, the total marks obtained is arrived at by
adding 10% of the marks obtained in first periodical, 15% of the marks obtained
in the second periudical and 75% of the marks obtained in the final examination.
If a student secures P marks out of 150 in first periodical, T marks out of 180
in second periodical and M marks out of 400 in the final examination, which of
the following will represent the total marks obtained by him 7

(a) (P & 160 » 10)" (T @ 400 » 15)" (M @ 180 = 75)

(b) (P @ 150 = 10y (T @ 180 » 15)" (M @ 400 * 75)

{e) (P + 150 = 107" (T = 180 @& 15)" (M = 400 @ T5)

() (P @ 10 = 10)" (T @ 180 » 15)" (M @ 400 * 75)

(e} None of these

ANSWERS

L.{a): aEb and bE¢ = a4 band bt ¢ = at ¢ = afe
Zidi: iCmand iAm = (d mand [3 m = [<m = [Fm.
3. {b) : With usual notations, we have :

lala<bz<e = a<bx»e, which is false.
blach<e = b>a«<e, which is true.
la<bh<c = c¢3 b>a, which is false.
dla<b<e = b>ad e, which is false.

4. le} : With usual notations, we have :

(@la»b<ce = b<eca, which is false.
Bla>b<e = c<b>a, which is false.
felasbee = ¢>b<a, which is true.

da>b<c = ck b4 a, which is false.

5. (b) : With usual notations, we have :

@lat bd ¢ = a<b>e, which is not true.
Blak bt c = cb b& a, which is true.

et bt ¢ = a=b=e which is not trua
dlak bt ¢ = b ad e, which is not true.

& (d) : With ususl notations, we have :

@la>bze b b<a>e, which is false.
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T.(B):

8. (d) :

8. (b):
10 ich -

Ll {a):

12, (b}

13 {c)
14. (al:
15. (o) :
18. (d} :
17. id}:

18. {a)

18. (b} :

20, (d) ;

21, (&) .

bla>b»e 35 e<h<a, which is false.
ela=bz=ec b ¢<axb, which is false.
idla=b>e & b<ca<e, which is true,
With usual notations, we have :
lala>becec & ¢>bca, which is false.
bla>b<c $ b<asc, which is true.
fclazb<e & bwa«c, which is false
With usual netatione, wo have :
alasbhec = a>b>c, which is false.
hlawbee = a<b<e, which is false.
Bla=bze = at b4 ¢, which is false.
ma2band (2b0r) = a>3band 26 & r

= a>3band2Wzr = axrie aar

(Zx Syl and (WBiz) = Gx2y and y= 3z
= xwdr fe, x5
(4x F 5y} and (Gv E 38} = {dx < 5y)and (v 3 35)
= (dr < fy) and (Gy < 3s)
= dx < Jsor 4x = 3=
= drF3sordr Ads.
adband b+c = a>b and b is a little more than ¢
= a»c = ccaieoc®ha
c=gand a=b o ceaandazh = bhza ic b=a
axbandb Oc = ais a little lass than b and b=ec
= @ 18 a little less than ¢
= ¢is a little more than"a ie.c+a
cfhbandbxa = e<bhandb is a little lese than a.
= cx<d = a>c {£ adc
ac+be = ac>be = ax>b = bea ie.bHa.
ac % bd and ab Acd = ae < bd and ab > od.
Clearly, no conclusion can be drawn.
AgC and 2AB3B = A>2C and 2A =3B
= 2A > 4C and 2A = 3B
= 8B>4C = C<B ie CBB.
3AcB and 3Ba2C = JA>Band3B>2C

- 3A:Bar.d§3;-c

% gh:gl}mdgﬂ:ﬂ
= g.‘lz-ﬂ = BA>C ie BAqC,

BOICand3C+A = B=2Cand 3C+ A
= B=2Cand3Cs A
= B=20<3CzA
= BecAie BRA

i2Aand BaC = 3C4 2AandB=C
= JCz22Aand B> -
= 3B > 8Cand 3C = 24
= 3B>2A ie 3Ba2A
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a9 (¢): B0 2C and 2A o 3C = 3B =2C and 2A > 3C.
- %E:ﬂﬂmdﬂﬂ{ﬂh

9 4
= EB-:EA = Bcg.&

= Bc<Aie, BPA
29, (d) : Given statements : M<N, L>N, M=P.
To verify the given conclusions, we find a relation between N and P.
Now, NoM, M=P>N=z2P.
Clearly, both I and II are false.
24. (b} : Given statements : A<C, MzF, C=F
I. Relation between M and A :
MzF F<C, CzA = no definite conclusion.
Bo, | is not true.
II. Relation between C and M :
C>F, FzM =C>M ie. CEM
8o, II is true. '
25. (e} : Given statements : B<P, C>N, P=N
I. Relation between P and C :
P=N N<C= P<C ie P<C.
So, I is true,
II. Relation between C and B :
C>MN N=P. PzB=C>BieC®B
8o, II is true.
26. (b) : Given statements : K <P, Z=K, K=M
Relation between Z and M :
Z-K KM = Z-Mie Z@&M
B0, [ is false and II is true.
27. (e) : Given statements : Z<P, T=M, MzP
I. Relation between M and Z :
MzP, P> = M>Z ie M Z
2o, | ia true.
II. Relation between T and P.
T=M, MzP = TzPie TaP
So, II is true.
28. (¢) : Given statements : P>Q, M<K, T=EK.
Relation between T and M :
T=K KzM = TeM = T>MorT=M
= T&Mor T=M
Bo, either I or II is true.
29, (d) : Given statements : S<M, M>L Lz2
1. Relation between 5 and Z :
S«M M=>L, LzZ = nodefinite conclusion.
8o, [ is not true.
“II. Relation between S and L :
8<M, M>=L = nodefinite conclusion.
S0, [1 is also not true.

21 The Information Provided here is only for reference.It may wvary the Origina.
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30, id) :

al. la) :

32 (b) -

38, (b) :

34. (b) :

35. (a) ;

348. (b) :

wwwW.entranceexams.io

Given statements : D>F, F=8, 8z M

[. Relation between D) and M :
D>F, F=8 8 =M = nodefinite conclusion.
S0, I is not true.

II. Relation between F and M :
F=58zM = FP=M.

S0, FEM ie. FizMisnot true. .
Thue, II is false,

Given statements : J=V, V<N, R<J

1. Relation between R and N :
Rsd, J=V, V<N = R<Nie R+N.
8o, T is true.

II. Relation between J and N :
J=V, V=N = J<N ie J+N.
B0, JEN ie, J2N is not true.
Thus, I is false.

Given statements : LzU, C<L, C>B

I. Relation between U and C :

UsL, L>C = no definite conclusion.
Bo, [ is not true.
II. Relation between L and B :
L>C, C>B = L>Bie L®B.
So, I1 is true. '

Given statements : G<8, Fz8, T<G

1. Relation between F and T :

FzB 8z2G,G>T = F>Tie. F=T
So, [ is true.

II. Relation between T and 8 :

T«G, G=£8 = T=z8is TOS
S0, T=85 is not true.
Thus, 11 is false.

Given statements : M=N, N>B, B<P

1. Relation between P and N :
P>B,B<N = nodefinite conclusion.
8o, I ie not true.

II. Relation between B and M :
Bz<N,N=M = B<Mie BOM,
8o, I is true,

Given statements : NsT, T=P.

Ralation between P and N :

P=T, TeN = PzN = P>Nor P=N

= P+«N or P=N.

So, either I or II is implicit.

Given statements : P<Q, MzN=P

I. Relation between M and P :
MzN=P = MzPie M*P
So, I im not trua.

rwary

Reasoning

he Origina.
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a7. (a):

38, (eh:

40. (b) :

41. (d) :

42 {a) :

43 ic) :

1
i

II. Relation between N and Q :
N=P, PzQ = N=z=Qie N#Q
So, I1 is true.

Uiven statements : LzM, EzT=L

I. Relation between T and M :
TeLl, LzM = TezMie T*M
8o, [ is true.

I1. Relation between R and L :
RzT=L = RzLie R*L.
5o, 11 is not true.

Given statements : X>Y>2 U>Z=V

I. Relation betwesn V and U ;
Vaf<lU = VU e V01U,
Bo, I is true.

II. Relation between X and V :
X=Y>% = X=Z4
Now, X>Z and Z=V = X=>Vie X@V.
Sa, II is true.

: Given statements : G<HzK, H>Q=R

1. Relation between G and Q.
G<H, H>Q = no definite conclusion,
8o, [ is not true.
II. Relation between R and G :
R=Q<H = R<H.
Now, R<H and H>G = no definite conclusion.
8o, II is not true.
Grafrand 2y = Br=Syand Zy>3e

> Gc=Gyandy> o

= Ex-ﬁ)'lndmr:tlji = ﬁx:a%
= lix>1lhe = 4r>5be

= dx>3z fe. dxp 3z

a:'rb}'.b.tnczmdbguuc = ax<by,br=cz and b® = ac.

bx=cz = bi=bez = acx=bez = ax=bs
ax<by = be<by = z<y = yrzie ypa

abzy acz, bxpayandb®aac = abxy=c’z, bx > ay, b =ac

Now, bx >ay = bzx:a-aby

= acx > aby {-.-b’:aej

= cx>by = by<ex,
2 ar’
e’z =abxy =axby caxex = ez <

= ar">e i:.e,uxxﬂcz.

beyyax,cyabzanda’ybe = bey:u.t,c_‘r-bz,a’t{bc
ey=bz = ey=berza® = eysa’s

ﬂ}h}'.‘-‘ﬂﬂy = M}dgy = X ray

The Information Provided here is only for reference.
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= creacy = cx>abz (. cy=bz)
= ¢x = ahz fe exBabs
-I-L{ul:axq.byz cuubynMJqu:&cx*ﬁj‘lm bgj' 2= u-!}'
ezx = bty = c’:x-scb’y = axyx= c&ay (- c%2 = axy)
= ar®=ch?,
Now, a’x=byz = a'c’=beyr = aar’=byys
= ach®=bxyz (- ax’® =eb?)
= abe=xve i abc oxyz.
45.(a): A+B=C+D, C+D>B+E, B+E=2C
= A+B>B+E B+E=2C = A+B=12C
48.ld): A+D>C+E = A+D>(2B-DH+E (--C+D=2B)
= A+D>B+Ey+(B-Iy
= A+D=(C+Dh+(B-I
= A+D>B+C.

_ : _ sum of lengths of two trains
47. (b} : Clearly, time taken = total speed of two trains

-G = Ly @ ViV
48, (b} : Total fare =B + 16% of B + 2% of B + 200
Bx15 Bx2
=B+ 00| -—_— 100 + 200
=B" (B+15) @ 100" (B = 2) @ 100"200.
49. (¢) : Profit percentage = —GI-% 100
=[S (C"L" Ty @ (C"L" T} » 100
50, {e) : Clearly, total mrhl={'l‘—2!t‘2+%+5tﬂ
=(T2= 24« K@ 3"6+ 2.
61. (b) : Marks out of 150 in first periodical = P.

Marks out of 100 in first periodical = [ :fﬂ ; mo}

Marks out of 180 in second periodical =T.
Marks out of 100 in second periodical = [—:r. IWJ

| Marks out of 400 in final examination = M.
Marks out of 100 in final examination =[£x 1m]-

.I Tﬂ[:;:ﬁ_ﬂmﬂ [lﬂﬂf[—xlm] Tﬁﬁrnf[%xlﬂﬂ]]
=[1—1§0 [-—nlﬂ}ﬂ[ [ :mn]] [—ﬂnﬂﬂ
[—nu] [—us] [—:-:TE]

= (P& 150 « 107" (T @ 180 » 15y" (M & 400 = 75).

Reasoning

we: The Information Provided here is only
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13. LOGICAL SEQUENCE OF WORDS

In this type of questions, a group of words is given. The candidate is required
to arrange these words in a meaningful order such as the sequence of occurrence of

events, sequence from a part to the whole, sequence of increasing/decreasing =ize,
value, intensity ete., and then choose the correct sequence accordingly.

Ex. 1. Arrange the following in a meaningful sequence :

1. Consultation 2. lness 3. Doctor
4. Treatment 5. Recovery
(a) 2,3.1456 {(b)2,3.4,15 (c) 4,3,1,2,6 (d) 5,1,4,3,2

Bol. We know that illmess occurs first, One then goes to the doctor and after
consultatiom with him, undergees treatment to finally attain recovery.
Thus, the correct order is 2, 3, 1, 4, 5.

Hence, the answer is (a).

Ex. 2. Arrange the following in a logical order :

1. Euphornia 2. Happiness 3. Ambivalence
4, Ecstasy 5. Pleasure
{a) 4,1,3.2,5 (b) 32514 (€)2,1,345 (d) 1,4,25,3

Sol. All the given words stand for ‘Joy’, but the intensity increases in the order —
Ambivalence, Happiness, Pleasure, Euphoria, Ecstasy.
Thus, the correct order is 3, 2, 5, 1, 4.
Hence, the answer is (b).

Ex. 3. Arrange the following in a meaningful order, from particular to general ;

1. Family 2. Community 3. Member
4. Locality 5. Country
(e} 31245 (b} 3,1,2,54 ey 3,1,425 (d).3,1,4,5,2

(Asstt. Grade, 1996)
Sol. Clearly, a member is a part of a family, which in turn is a part of community.
The community lives in a locality which lies within a country.
" Thus, the correct order iz 3, 1, 2, 4, 5.
Hence, the answer is {a).

| EXERCISE 13 |

Directions (Questions 1 fo 33) : in each of the following questions, arrange
the given words in a meaningful sequence and then choose the most appro-
priate sequence from amongst the alternatives provided below each question.

1. 1. Birth 2. Death 3. Funeral
4, Marriage 5. Education (Assit. Grade, 1005)
(a) 4,5,3,1,2 (b) 234,51 {c) 154,23 (d) 1,3,4,5,2
2. 1. Site 2. Plan 3. Rent
4. Money 5. Building {Central Excise, 1998)
{a) 41,253 (h) 34,251 {c) 2,3,5,1.4 (d) 12354



456
3.

4.

TI‘

10.

11.

12,

13.

14.

15.

18,

17.

: The Info

1. Table

4. Seed

(a) 4,5,3,2,1
1. College
4. School
(a) 1,2,4,3,5
1. Reading
(a) 1,324

1. Cutting
4. Market

(a) 1,2,4,5.3
1. Income

4. Well-being
(a) 1,3,2,54
1. Milky way
4. Earth

(u) 4,3,2,5,1
1. Sea

4. River

(a) 54,32, 1
1. Poverty

4. Unemployment

(a) 34,251
1. Yarn

4. Cotton
(a) 24,153
1. Puberty
4. Infancy
{a} 5,2,34,1
1. Windows

4. Foundation

{a) 453,216
1. Post-box
4, Delivery
{a) 3,24,5,1
1. Key

4. Room
{a) 5,1,2,4,3
1. Gold

4. Platinum
{a) 2,4,35,1
1. Cut

4. Measure
(a) 43,152

tion Prowi
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Reasoning
2. Tree 3. Wood
5. Plant (C.B.L 1994)
ib) 4,5,2,3,1 (c) 13,246 (d) 1,2,34.5
2, Child 3. Balary
5. Employment (Central Excise, 1992)
(b) 24,153 ic) 4,1,3,5,2 {d) 53,214
2. Composing 3. Writing 4. Printing
(b) 2,34,1 {c) 3,1.24 id) 3,241
(Railways, 1895)
2. Dish 3. Vegetable
5. Cooking {Asstt. Grade, 1994)
(b) 3,2,5,14 (c) 4.3,1,5,2 (d) 53,214
2, Btatus 3. Edueation
5. Job - (B.8.C. 1983)
) 12534 {c) 3,1524 (d) 3,5,1,2.4
2. Sun 3. Moon
5. Btars (C.B.L 19903)
ib) 34251 {c) 23.4,5,1 d) 1,4,3,2,6
2. Rivulet 3. Ocean
5. Glacier (L. Tax & Central Excisa, 1905)
ib) 54,2,3,1 {c) 52,4,1,3 (d) 52,134
2. Population 3. Death
5. Digease (B.B.C. 1984)
(b) 24,153 (e} 2,3,45,1 id) 1,2,3,4,6
2. Plant 3. Saree
5. Cloth (Asstt. Grade, 1988)
(b) 2,4,3.5,1 (c) 2,4,5,1.3 id) 2,453,1
2. Adulthood 3. Childhood
5. Senescence (U.D.C. 1985)
(b) 432,156 () 43,125 (d) 24,3,1,5
2. Walls 3. Floor
5. Roof 6. Room (C.B.L 1985)
(b) 4,3,6,6,2,1 (c) 4,2,1,5,3.6 (d) 4,1,5,6,2,3
2. Letter 3. Envelope
5. Clearance
(b) 32,164 {e) 3,2,14,6 {d) 2,3,1,4,5
2. Door 3. Lock
5. Switch on (Assit. Grade, 1985)
b) 42,153 ) 1,2354 (d) 1,3,24,5
2. Iron 3. Band
5. Diamond (Asstt. Grade, 1997)
{b) 32154 (c) 4,5,1,3,2 (d) 5,4,3,2,1
2, Put on 3. Mark
5. Tailor {Central Excise, 1994)
(b) 3,1,542 c) 2,4,3,1,5 {d) 1,3,245
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Lagieal Sequence of Words

18. 1. Rainbow

4. Happy

(a) 2,1,4.3.56
18. 1. Study

4. Earn

(a) 1,2,3,4.5
20. 1. Shoulder

4. Palm

(a) 5,4,2,3,1
21. 1. Frog

4. Snake

la) 5,3,4.2,1
22. 1. Punishment

4, Crime

(a) 5,1,2,3.4
28. 1. Child

4. Infant

{a) 1,3,5,2.4
24. 1. Mother

4. Cry

() 1,5,24.3
26. 1. Travel

4. Berth/Seat number
6. Availability of berth/seat for reservation

{a) 6,2,5,4,8,1

268. 1. Curd
4. Milk
(a) 5,2,4,1,3
27. 1. Elephant
4. Tiger
(a) 1,3,54.2
28. 1. Probation
4. Appointment
(a) 5,6,234,1
28. 1. District
(a) 2,143

30. 1. Index
4, Chapters
(a) 3,2614
81. 1. Country
4. Wood
(a) 1,3.5.4.2

457
2. Rain 3. Sun
5. Child (8.8.C. 1993)
(b) 23,154 ic) 423,51 (d) 45123
2. Job 3. Examination
5. Apply {I. Tax & Central Excise, 1992)
(b) 1,3,254 c) 1,3,54,2 (d) 1,3,6,24
2. Wrist 3. Elbow
5. Finger
(b) 345621 (c) 3,142,656 (d) 24,63,1
2. Eagle 3. Grasshopper
6. Grass (8.8.C. 1996)
(b) 53,142 () 34251 (d) 13,624
2. Prison 3. Arrest
5. Judgement (Asstt. Grade, 1996)
(b) 4,3,6,2,1 () 43,512 (d) 2,3,1.4.6
2. Job 3. Marriage
5. Education (8.5.C. 1993)
{b) 3,5.2.1,4 (c) 4,1,3,5,2 (d) 4,1,5,2,3
2, Child 3. Milk
5. Smile (Asatt. Grade, 1895)
(h) 24,135 c) 2,4,3,1,6 (d) 3,2,1,64
2. Destination 3. Payment
5. Reservation
(b) 534,162 ic) 2,6,3,54,1 id) 1,2,54,3,6
(Central Excise, 1984}
2. Grass 3. Butter
5. Cow (Asstt. Grade, 1994)
{b) 5,2,3.4,1 {c) 42,5,3,1 id) 2,5,4,3,1
2. Cat 3. Mosquito
5. Whale (Asstt. Grade, 1996)
(b) 25,143 () 324,156 (d) 5,3,1,2.4
2. Interview 3. Selection
5. Advertisement 6. Application
ib) 5,8,3,2,4,1 () 58,4,2.3.1 (d)1 854231
2. Village 3. State 4. Town
(b) 2,3.4,1 (e} 2,4,1,3 (d) 3,214
(8.8.C. 1998)
2. Contents 3. Title
5, Introduction
(b) 234,51 (c) 5,1,4,2,3 d) 3,2,54,1
2. Furniture 3. Forast
5. Trees (B.B.C. 1993)
b)) 14325 ey 243,15 (d) 523,14
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458 Reasoning
32. 1. Protect 2. Pressure 3. Relief
4. Rain 5. Flood (I. Tax & Central Excise, 1094)
(a) 24315 (h) 24513 (c) 2,5,4,1,3 id) 324561
33. 1. Andhra Pradesh 2. Universe 3. Tirupathi
4. World 5. India (Asstt, Grade, 1985)
(@) 1,6,3,2.4 (b) 2,1,3,6,4 (e} 3,1,54,2 id) 5.4.2,1.3
34. Arrange the following in a meaningful order : (C.B.L 1987)
Doctor, Fever, Medicine, Medical shop
{a) Medicine, Doctor, Medical shop, Fever
(b) Doctor, Medical shop, Medicine, Fever
(c) Fever, Doctor, Medical shop, Medicine
() Medical shop, Medicine, Fever, Doctor
35. Which would be the proper order of the following (in ascending order) ?
1. Trillion 2. Thousand 3. Billion
4. Hundred 5. Million (8.8.C. 1983)
(a) 1,2,4,3,5 (b) 1,5,3,2.4 (c) 42,351 d) 42,53,1
38. Which of the following number sequences represents a correct sequence from a
part to the whole ?
1. Caste 2. Family 3. Newly married couple
4. Clan 5. Species (C.B.1. 1993)
{a) 2,3.1,4,5 (b) 32,145 (c) 34,512 d) 453,21
37. Arrange the following items from general to particular :
1. Animal 2. Feline 3. Leopard
4, Mammal 5. Vertebrate 6. Cat
(a) 1,6.4,2,3.6 (b) 1,4,3,2,5,6 (c) 1,3,6.4.2.6 id) 1,2,3,4,5,6
38. Which number sequence of the following represents a correct sequence from
small to big ?
1. Bungalow 2. Flat 3. Cottage
4. House 5. Palace 6. Mansion
(a) 3,2,1,4,6,5 {b) 324158 ic) 3,241,656 i) 564,123
ANSWERS o
1. (e} 2 (@ B (b &b B () 6 i) T.d) B.ib) Bl 10.(b)
1L fa} 12 (e} 18 {c) 14. (b} 16 {d) 16 (b} 17.{a) 18 (h) 18, (d}) 2O (a)
2L (k) 22 0) 28 ) 24.(b) 25.(c) 26.(a) 27.0) 28 (&) 2B.{c) 30.(d)

9L (a} 32.(6) 83 (c) B4 (c) 85 (@) 36.(b) 87 (a) BB (c)

Information Provided here is only for reference At may wvary the Origina.:
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14. ARITHMETICAL REASONING

TYPE 1 : CALCULATION-BASED PROBLEMS

Ex. 1. In a chess tournament each of six players will play every other player exactly
once. How many matches will be played during the tournament ?
(z) 12 b) 15 {c) 30 (d) 36

(C.B.L 1985)

80l. Clearly, we will consider the following matches :
(i) matches of first player with other 5 players;
{(ii} matches of second player with 4 players other than the first player;
(i) matches of third player with 3 players other than the first and nﬂmnd
players;
(ir) matehes of fourth player with 2 players other than the first three players; and
() match of fifth player with the sixth one.
S0, number of matches played during the tournament =5 +4+ 3+42+1=15.
Ex. 2. A man has a certain number of small boxes to pack into parcels. If he packs
3,4, 5 or 6 in a parcel, he is left with one over; if he packs 7 in a parcel,
none is left over. What is the number of boxes, he may have to pack ?
(a) 106 {b) 301 {e) 309 (d) 400
Sol. Clearly, the required number would be such that it leaves a remainder of 1
when divided by 3, 4, 5 or 6 and no remainder when divided by 7. Such a
number is 301.
Hence, the answer is (b).
Ex. 3. A B, C and D play a game of cards. A says to B, “If I give you 8 cards, you
will have as many as C has and [ shall have 3 less than what C has. Also, if
I take 6 cards from C, I shall have twice as many as D has.” If B and D together
have 50 cards, how many cards has A got ? (Hotel Management, 1997)

() 40 (b} a7 (c) 27 (d) 23
Sol. Clearly, we have ;
B+8=C ki) A-8=C-3 ]
i A+6=2D AR B+ D=>50 i)
" Putting C=A -5 from (i2) into (i), we have :
B+8=A-5 or A- B=13 )]
Putting D =50 - B from (iv) into (iif), we have :
A+6=100-2B or A+2B=94 LAui)
Solving (v) and (vi), we get B = 27 and A = 40,
2. A has 40 cards.

Hence, the answer is {a),

Ex. 4. In a group of cows and hens, the number of legs are 14 more than twice the
number of hends. The number of cows is

la} 5 57 (e} 10 d) 12
458
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Sol. Let the number of cows be x and the number of hens be y. Then,
number of legs in the group =4z + 2y,
number of heads in the group =x +¥.

So, de+2y=x+y)+14 or dx+2y=2x+p+14 or Zx=ldorx="T
.. Number of cows = 7.
Hence, the answer is (b).

Ex. 5. A worker may claim Rs 15 for each km which he travels by taxi and Rs 5
for each km which he drives his own car. If in'one week he claimed Rs 500
for travelling 80 km how many kme did he travel by taxi ?

(@) 10 (b) 20 ic) 30 {ef) 40

Sol. Let the distance covered by taxi be x km.

Then, distance covered by car = (B0 - £) km.

15x + 5(80 - x) =500 or 15c+400-5x=500 or 10x=100 or x=10.
- Distance covered by taxi = 10 km.

Hence, the answer is {g).

TYPE 2 : DATA-BASED QUESTIONS
Ex. 8. The following questions are based on the given data for an examination.

(A) Candidates appeared 10500
(B) Passed in all the five subjects 5686
(C) Passed in three subjecta only 1498
(D) Passed in two subjects only 1250
(E} Passed in one subject only 835
(F) Failed in English only - T8
{G) Failed in Maths only 275
(H} Failed in Physics only 149
(I} Failed in Chemistry only 147
(J) Failed in Biology only 21
Q. 1. How many candidates failed in all the subjects ?
(a) 4815 by 3317 (e} 2B6T {d) 362

8ol. Clearly, candidates failed in all the subjects
= (Candidates appeared) — (Candidates failed in 1, 2, 3 or 5 subjects
+ Candidates failed in 1 subject only)
= 10500 - (5685 + 1498 + 1250 + 835 + T8 + 275 + 149 + 147 + 221)
= 10500 - 10138 = 362.
Hence, the answer is {d).
Q. 2. How many candidates passed at least in four subjects ?
la} 6555 {b) 5685 {e) 1706 (d) 870 =
Bol. Candidates passed at least in four subjects 1,
= (Candidates passed in 4 subjects) + {Candidates passed in all 5 subjects) |
= (Candidates failed in only 1 subjeet) + (Candidates passed in all 5 subjects)
= (78 + 275 + 140 + 147 + 221) + 5685
= 870 + 5685 = 6555, ;
Hence, the answer is (a). J

herse is only for referenge.It may vary the Origisga.
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Q. 3. How many candidates failed because of having failed in four or less subjects ?
(a) 4815 (b) 4453 c) 3618 (d) 2368
Sol. Candidates failed in four or less subjects
= (Candidates failed in only 1 subject} + (Candidates failed in only 2 subjects)
+ (Candidates failed in only 3 subjects) + (Candidates failed in only 4 subjects)
= (Candidates failed in only 1 subject) + (Candidates passed in only 3 subjects)
+ (Candidates passed in only 2 subjects) + (Candidates passed in only 1 subject)
= (78 + 275 + 149 + 147 + 221) + 1488 + 1250 + 835
= 4453,
Hence, the answer is ().

TYPE 3 : PROBLEMS ON AGES

- Ex. 7. Reena is twice as old as Sunita. Three years ago, she was three times as old
as Sunita. How old is Reena now 7 (L. Tax & Central Excise, 1085)
{a) 6 years (b) 7 yeara {c) 8 years (d) 12 years
Sol. Let Sunita's present age be x years.
Then, Reena's present age = 2x years.
Thres years ago, Sunitas age = (x - 3) and Reena’s age = (2x - 3).
So, (Zx=F=Hx=3) or 2x-3=3r-9 or r=6
.. Reeng’s present age = 2x = 12 years.
Hence, the answer is (d).

Ex. 8. The age of a father is twice that of the elder son. Ten veara hence the age
of the father will be three times that of the younger son. If the difference of
agea of the two sons is 15 years, the age of the father is
{a) 50 years (b) 55 years (e} 60 yvears {d) 70 vears

Sol. Let the age of the elder son be x.

Then, age of younger son =(x - 15); and
age of the father = 2x.
So, 2r+ 10=z-16+10) or Zx+10=3x-15 or x=25.
~. Father's age = 2 = 50 years.
Hence, the answer iz {a).

TYPE 4 : VENN-DIAGRAM BASED QUESTIONS
Ex. 9. Consider the diagram given below : (LAB. 1994)

English Hindi

(22
w Mathematics

Five hundred candidates appeared in an examination comprising of tests in
English, Hindi and Mathematics. The diagram gives the number of candidates
who failed in different tests. What is the percentage of candidates who failed
in at least two subjects ?

{a) 0.078 by 1.0 (c) 6.8 (d) 7.8
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8ol. Clearly, number of candidates who failed in at least two subjects
= number of candidates who failed in two or more subjects
=(10 +12 + 12+ 5) = 39.

. Required %percentage = 53:” x 100]% =7.8%.
Hence, the answer is (d).

Ex. 10. In a group of persons travelling in a bus, & persons can speak Tamil, 15
can speak Hindi and 6 can speak Gujarati. In that group, none ean speak
any other language. If 2 persons in the group can speak two languages and
one person can speak all the three languages, then how many persons are
there in the group ? (LA.S. 1987)

(@) 21 by 22 (c) 23 id) 24
Sol. Let circles X, ¥, and Z represent persons who can speak Tamil, Hindi and
Gujarati respectively.

X Y

(BNZF

\/

Z

Tamil-speaking persons =A+B+D+E=6 i}
Hindi-speaking persons =B+ C+E+F=15 wlEE)
Gujarati-speaking persons =D +E+F+G=6 g}
Persons speaking 2 languages =B+D+F =2 i)
Persons speaking all 3 languages =E=1 et}
Clearly, we have : A+B+D=5 ek UE)
B+:C+F=14 o Uid)
D+F+G=5 A UEEE)
B+D+F=2 wfix)

Subtracting (ix) from (vi), we get :
A-F=3 wl)

Adding (vii) and (viii), we get :

B+C+D+2F+G=19 woalxE)

Adding (x) and (xi), we get :
A+B+C+D+F+G=22
or A+B+C+D+E+F+G=23 (. E=1)
- Total number of persons = 23.
Hence, the answer iz (e).

| EXERCISE 14 |
1. A shepherd had 17 sheep. All but nine died. How many was he left with ?
(a) Nil b) 8 e) 8 d) 17

(Railways, 1995)

a
:kﬁ] The Information Prowvided here is &nly for referenfe.lt may wvary the Origina.
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2.

3.

4'

TI

s!

10.

12.

The Information Provided here is only for reference.lIt may v

A bird shooter was asked how many birds he had in the bag. He replied that
there were all sparrows but six, all pigeons but six, and all docks but six. How
many birds had he in all ?

@) 8 (b) 18 {c) 27 (d) 36

What is the smallest number of ducks that could swim in this formation — two
ducks in front of a duck, two ducks behind a duck and a duck between two
ducks ?

{a) 3 (b) 5 (c) 7 d) 9

A group of 1200 persons consisting of captains and soldiers is travelling in a
train. For-every 15 soldiers there is one captain. The number of captains in the
group is (Hotel Management, 1992)
{a) 85 (b) 80 {c) 75 id) 70

Aruna cut a cake into two halves and cuts one half into smaller pieces of equal
size. Bach of the small pieces iz twenty grams in weight. If she has seven pieces
of the cake in all with her, how heavy was the original cake ? (LIC. 1894)
{a) 120 grams (k) 140 grams © () 240 grams

(d) 280 grams (e} None of these

First bunch of bananas has i aguin as many bananas as a second bunch. If the
second bunch has 3 bananas less than the first bunch, then the number of

bananas in the first bunch are (8.C.R.A. 1998)
{a) 9 & 10 {c) 12 {d) 15
At the end of & business conference the ten people present all shake hands with
each other once. How many handshakes will there be altogether 7 (MLB.A. 1997)
{a) 20 (b) 45 (c) B5 {d) 90
A student got twice as many sums wrong as he got right. If he attempted 48
sums in all, how many did he solve correctly ? (M.B.A. 1994)
{a) 12 (b) 16 fc) 24 (d) 18
The number of boys in a class is three times the number of girls. Which one of

the following numbers cannot represent the total number of children in the

class ? (8.C.R-A. 1883)
(a) 48 (b) 44 c) 42 (d) 40
A placed three sheets with two carbons to get two extra copies of the original.

Then he decided to get more carbon copies and folded the paper in such a way
that the upper half of the sheets were on top of the lower half. Then he typed.
How many carbon copies did he get ?

(a) 1 by 2 e 3 {d) 4

A motorist knows four different routes from Bristol to Birmingham. From
Birmingham to Sheffield he knows three different routes and from Sheffield to
Carlisle he knows two different routes. How many routes does he know from
Bristol to Carlisle ?

(a) 4 (h) 8 (c) 12 (d) 24

In a class, there are 18 boys who are over 160 em tall. If these constitute three-
fourths of the boys and the total number of boys is two-thirds of the total number
of students in the class, what is the number of girls in the class ? (LA.S. 1992)
{a) 6 ; (b) 12 ic) 18 (d) 24

1]

rv the Origina.
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Reasoning
A bus starts from eity X. The number of women in the bus is half of the number
of men. In city Y, 10 men leave the bus and five women enter. Now, numbe:
of men and women is equal. In the beginning, how many passengers entersd
the bus 7 (L. Tax & Central Excise, 1985
(a) 15 (b} 30 (e} 36 (d) 45
In a class, 20% of the members own only two cars each, 40% of the remaining
own three cars each and the remaining members own only one car each. Whick
of the following statements is definitely true from the given statements 7
{a) Only 20% of the total members own three cars each.
(k) 48% of the total members own only one car each.
{c) 60% of the total members own at least two cars each.
{d} 80% of the total members own at least one car.
{e) None of these {Bank P.O. 1998
Between two book-ends in vour study are displayed your five favourite puzzle
books. If you decide to arrange the five books in every possible combination anc
moved just one book every minute, how long would it take you ?
{(a} 1 hour (6) 2 hours (c) 3 hours (d) 4 hours
I have a few sweets to be distributed. If 1 keep 2, 3 or 4 in a pack, 1 am lef
with one sweet. If I keep 5 in a pack, I am left with none. What is the minimun
number of sweets | can have to pack and distribute 7 (Assistant Grade, 1982
(a) 25 ib) 37 (c) 54 {d) 65
Mr. Johnson was to earn £ 300 and a free holiday for seven weeks' work. H
worked for only 4 weeks and earned £ 30 and a free holiday. What was thu
value of the holiday ?
(a) £ 300 (&) £ 330 (c) £ 360 id) £ 420
In a ericket match, five batsmen A, B, C, D and E scored an average of 36 runs
D scored & more than E; E scored 8 fewer than A; B scored as many as D ane
E combined; and B and C scored 107 between them. How many runs did I
score 7
(a) B2 (b) 45 {c) 28 () 20
Mac has £ 3 more than Ken, but then Ken wins on the horses and trebles hi
money, 50 that he now has £ 2 more than the original amount of money tha
the two boyvs had between them. How much money did Mac and Ken haw
between them before Ken's win 7
a9 b £ 11 {c) £ 13 (d) £ 15
Robin says, “If Jai gives me Rs 40, he will have half as muoch as Atul, but i
Atul gives me Rs 40, then the three of us will all have the same amount.” Wha
is the total amount of money that Robin, Jai and Atul have between them ?
{a) Rs 240 (b) Rs 320 {c} Rs 360 (d) Rs 420
A, B, C, D and E play a game of cards. A says to B, “If you give me three cards
you will have as many as E has and if I give you three cards, you will have a
many as D has.” A and B together have 10 cards more than what D and I
together have. If B has two cards more thar what C has and the total numbe:
of cards be 133, how many cards does B have ? (Hotel Management, 1895
(a) 22 ib) 23 (c) 25 (d) 35
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22. A, B, C,D and E play a game of cards. A says to B, “If you give me 3 cards,
you will have as many as | have at this moment while if D takes 5 cards from
vou, he will have as many as E has™ A and C together have twice as many
cards as E has. B and D together also have the same number of cards as A and
C taken together. If together they have 150 cards, how many cards has C got ?
(o) 28 b} 29 ey 31 (d) 35

(CAT. 1987)

23. In a caravan in addition to 50 hens, there are 46 goats and 8 camels with some
keepers. If the total number of feet be 224 more than the number of heads in*
the caravan, the number of keepers is {(Hotel Management, 1995)
{al & (b} 8 (e) 10 (d) 15

24. A certain number of horses and an equal number of men are going somewhere.,
Half of the owners are on their horses’ back while the remaining ones are walking
along leading their horses. If the number of legs walking on the ground is 70,
how many horses are there 7 {Railways, 1998)
{a} 10 {b) 12 e) 14 {d) 16

25. At a farm, there are hens, cows and bullocks, and keepers to look after them.
There are 69 heads less than legs; the number of cows is double of that of the
buliocks; the number of cows and hens is the same and there is one keeper per
ten birds and cattle. The total number of hens plus cows and bullocks and their
keepers does not exceed 50. How many cows are there 7
{z) 10 (B) 12 {c) 14 id) 16

26. In a certain office, % of the workers are women, -; of the women are married

% of the married women have children. If% of the men are married and

% of the married men have children, what part of workers are without children ?

] 4 11 17
{a) 18 (B) 9 (e} 18 id}) a6

27. In an examination, a student seores 4 marks for every correct angwer and loses
1 mark for every wrong answer. If he attempts all 75 questions and secures
125 marks, the number of questions he attempts correctly, is

and

{a) 35 ib) 40 (ch 42 () 48
Directions (Questions 28 to 32) : The following guestions are based on
the information given below : (Hotel Management, 1997)
Data on 450 candidates, who took an examination in Social Sciences, Mathematics
and Science iz given below :
Passed in all the subjects 167
Failed in all the subjects 60
Failed in Social Sciences 175
Failed in Mathematics Ag9
Failed in Scie 191
Passed in Social Bciences only
Passed in Mathematics only 48
Passed in Science only 52
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How many failed in Social Seiences only 7
(a) 16 (b) 21 {c) 30 (d) 42
How many failed in one subject only ?
{a) 152 (b) 144 (e} 61 {d) 56
How many passed in Mathematics and at least one more subject 7
la) 210 (h) 208 cd 170 {d) 94
How many failed in two subjects only 7
(a) 66 (h) 61 e) 162 (d) 162
How many passed at least in one subject 7
{a) 450 . (b) 390 (c) 304 (d) 167
A is three times as old as B. C was twice as old as A four years ago. In four

years' time, A will be 31. What is the present age of B and C ?

{a) 9, 48 (b) 9, 50 (e} 10, 46 {d) 10, 50
(Asmistant Grade, 1987)

A father tells his son, “T was of your present age when vou were born.” If the

father is 36 now, how old was the boy 5 years back 7 (Railways, 1994)

{a) 13 {b) 15 (e} 17 {d) 20

In a family, a couple has a son and a daughter. The age of the father is three

times that of his daughter and the age of the son is half of his mother. The

wife is 9 vears younger to her husband and the brother is seven vears older

than his sister. What is theiageqaf.the mother ? (L.A.B. 1898)
{a) 40 years (&) 45 vessra: (e} B0 years {d) 60 years
A father is now three timesss éld as his son. Five years back, he was four
times as old as his son. The age of the son is {L.A.S, 1993)
(@) 12 (b) 15 - (=) (c) 18 {d) 20

Ravi's brother 15 3 years semiér to him. His father was 28 years of age when
his sister was born while his miother was 26 years of age when he was born. If
his sister was 4 years of age when his brother was born, what was the age of
Ravi's father and mother respectively when his brother was born ?

{a) 32 vears, 23 vears ib) 32 years, 29 vears
{e) 35 years, 29 years . (d) 35 years, 33 vears
{(Hotel Management, 1995)

When Rahul was born, his father was 32 vears clder than his brother and his
mother was 25 years older than his sister. If Rahul's brother is & years older
than him and his mother is 3 years younger than his father, how old was Rahul's
gister when he was born 7 {Hotel Management, 1997)
{a) T years {b) 10 years {c) 14 years (d) 19 years
In a town, B5% people watched the news on television, 40% read a newspaper
and 25% read a newspaper and watched the news op television also. What
percent of the people neither watched the news on television nor read a news-
paper 7
(e} 5 (b} 10 {c) 15 (d) 20
In a group of 15 people, 7 read French, 8 read English while 3 of them read
nene of these two, How many of them read French and English both ?
{a) O (h) 3 {e) 4 () 5

(L Tax & Central Excise, 1985)
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41. There are 50 students admitted to a nursery class. Some students can speak
only English and some can speak omly Hindi. Ten students can speak both
English and Hindi. If the number of students who can speak English is 21, then
how many students can speak Hindi, how many can speak only Hindi and how

many can speak only English ? (LAS. 1068)
{a) 39, 20 and 11 respectively (b) 37, 27 and 13 respectively
() 28, 18 and 22 respectively () 21, 11 and 29 respectively
42. Consider the Venn diagram given below : (LAS. 1903}
Paper [ Paper 11

(N5

v aper 111

The number in the Venn diagram indicates the number of persons reading the
newspapers. The diagram is drawn after surveying 50 persons. In a population
of 10,000, how many can be expected to read at least two newspapers 7
() 5000 (b1 5400 (e} 6000 (d) 6250
43. Out of a total of 120 musicians in a club, 5% can play all the three instruments
— guitar, violin and flute. It se happensithi®itlie number of musicians who can
play any two and only two of the above instruments is 30, The number of musicians
who can play the guitar alone is 40. Whag is-the total number of those who can
play violin alone or flute alone ? o (LAB. 1995)
(a) 30 by 38 (c) 44 (d) 45
Diirections (Questions 44 to 46) : The diogram given below shows the number
of students who got distinction in three subjects out of 500 students. Study
the diagram carefully and answer the guestions that follow.

Physics
Chemistry Mathematics

44. What is the percentage of students who got distinetion in two subjects 7

(a) 8% (b} 9% (c) 10% (d) 12%
45, What is the percentage of students who got distinction ?

(a) 28% (b) 35% - ie) 38% (d) 40%
48. The percentage of students with distinction marks in Mathematics is

(a) 17.8% {b) 18.6% c) 18.2% () 20.6%

Directions (Questions 47 to 49) : Study the information given below and
anwpwer the questions that follow :

A publishing firm publishes newapapers A, B and C. In an effort to persuade
advertisers to insert advertisements in these newspapers, the firm sends out the
following statement to possible advertisers :
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|

A survey of representative™sample of the whole population shows that —
Newspaper A is read by 26%;

Newspaper B is read by 25%;

Newspaper C is read by 14%;

Newspaper A and B are read by 11%;

Newspaper B and C are read by 10%;

Newspaper C and A are read by 9%;

Newspaper C only is read by 0%.

47. The percentage of readers who read all the three newspapers is

{a) 1 (b) 4 ) 5 (d) 6

48. The percentage of readerg who read A and B but not C, is

{a) 2 (b) 4 (c) B id) 6

49, The percentage of readers who read at least one of the three newspapers is

{a) 40 (b) 50 (c) 60 (d) 65

50. A number of friends decided to go on a picnic and planned to spend Rs 96 on

eatables. Four of them, however, did not turn up. As a consequence, the remaining

ones had to contribute Bs 4 each extra. The number of those who attended the |

pienie was
{a) 8 (b) 12 {c) 18 {d) 24 |
o ANSWERS |
L. {ed : ‘All but nine died’ means "ﬁru'mpt nine died’ ie. nine sheep remained alive. |
2. {a) : “There were all sparrows hutT means that six birds were not sparrows but only |
pigeons and docks. ult s
Similarly, number of apa!(‘mawrr-l- number of docks =8 |
and number of sparrows + number of pigeons = 6. i
This is possible when there are 3 sparrows, 3 pigeons and 3 docks i.e. 9 birds in all.
3. {a) : Clearly, the smallest such number is 3. D
Three ducks can be arranged as shown D
along side to satisfy all the three given conditions. [ o
4. () : Clearly, out of every 16 persons, there is one captain.
So, number of captains =_1i:0 =75,
B. i) 1 The seven pieces consist of 8 smaller equal pieces and one hall cake piece,
Weight of each small piece =20g
So, total weight of the cake = 2 « (20 = 6) = 240 g.
8. (d) : Let the number of bananas in the second bunch be x
Then, number of bananas in the first bunch = x +-ix -%:.
50.%.1.‘-::3 = fr-dx=1%2 = x=12. |
/. Number of bananas in first bunch = [% X 1‘2]: 15. 4
7. b} : Clearly, total number of handshakes = (B +B8+7+6+5+4+3+2+1)=45
8. ib}: Suppose the boy got x sums right and 2x sums wrong. Then.
x+2x=48 or Bxr=48 or r=16 |
|
]

oo S = .l T
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Let number of girls = x and number of boys = 3x,

Then, 3z +x = 4x = total number of students,

Thus, to find exact value of x, the total number of students must be divisible by 4.
Since the number of carbons is 2, only two copies can be obtained.

Total number of routes from Bristol to Carlisle = (4 = 3 = 2) = 24,

Let the number of boys be x.

Then, %::,m or x=18x3=24

If total number of students is v, then

2 3
Bynﬂq ar }-ﬂxilﬂﬁ,

. Number of girls in the class = (36 - 24)= 12,
Originally, let the number of women =x.
Then, number of men = 2x.
8a, in city Y, we have ; 5
{Zx-10)=(x+5) or x=15
. Total mumber of passengers in the beginning = (x + %x) = 3x = 45.
Let total number of members be 100.
Then, number of members owning only 2 cars = 20,
Number of miembers owning 3 cars = 40% of 80 = 32.
MNumber of members, owning only 1 car = 100 - (20 + 32) = 48,
Thue, 48% of the total members own one gar each.
Clearly, number of ways of arranging 5 bﬂhﬁ_=5!=5n41332n1=120.
So, total time taken = 120 minutes = 2 hours.
Clearly, the required number would be such that it leaves a remainder of 1 when
divided by 2, 2 or & and no remainder when divided by 5. S8uch a number is 25.
Let the value of the holiday be x.
Then, pay for seven weeks' work = £ 300 + x,

Pl!-’fﬂ;ﬂ‘mhukn‘ 'mrk-%-

T
So, B35 . 450+
or £1200+dc=2310+Tx or 3x=£090 or £330,
Total runs scored = (36 = 5) = 180.
Let the runs scored by E be =
Runs scored by D =x + 5.
Runs scored by A =x +8.
Runs scored by B =x+x+5=2x + 5.
Runs scored by C = {107 - B) = 107 — {2 = 5} = 102 - 2.
Bo, total runs = (x + 8) + (Zr + 5) + (102 - Ivj+ x + 5)+x = Fe + 120
LAz +120 =180 or Ax=60 or x=20,
Thus, runs scored by E =20,
Let money with Ken =x.
Then, money with Mac =x + £3,
Mow, 3x=(r+x+£23)+£% or x=£5
5 Total money with Mac and Ken = 2c . - 1 = £ 13,
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20, {c) .

21 ich -

22, (ab:

24 (d)

24. (e s

25. (] :

=
F
E
I
1
1
|

CEeXdms .10

Clearly, we have :

J-.iu:%ﬁ, f i) A-4D=J
A-40=R+40 M)

Solving (i) and’ () !lmult-ﬂnmly, we get : J = 120 and ﬁ led,
Puu:lng A= 180 in (i), we get R =80,

- Total money = R+ J + A = Re (80 + 120 + 160) = Ra 360,
Clearly, we have :

B-a=E i) B:3=D
A+BaD+E+10 T ] B=C+2
A+B+C+D+E=133 LAuy

From Ii}‘nnd {ii}, we have : 2B = D E

From (ifi) and (v}, we have : A=1 + 10

Using (i), (04) and (i) in (o), we get : i
(B+10)+B+(B-2)+2B=132 or 5B=125 or B=25

Cleariy, we have :

A=B-8 Al D+5=E
AsCa?2E 1] Bi«DoA+C=2E
A+B+C+D+E=150 Al

From (#if}, (fv) and (v}, we get : SE=150 or E=30

Putting E = 30 in (i), we get : D =25

Putting E = 30 and [} =25 in (iv), we get : B =35

Putting B = 35 in (), we getpefi= 32

Putting A = 32 and E = 30imi(id); we get : C=98

Let number of keepers be x

Then. total number of feet =2 = 50 +4 x 45 +4 = 8 + Ze = 2x + 312,
wtal number of heads = 50q 48 %8 + x = 103 + x.

Now, (2x + 312} = (103 + ¥ 224 or x =158

Let pumber of horses = number of men = x.

Then, number of legs = 4x + 2 -E:&r.
S0, fr=T0 or r=14.

Reasoning

«oAiE}

(711
LAl

]
- ALE)

LAREY
L Ai)

Let the number of hens, cows, bullocks and keepers be represented by H, C, B and

K respectively,
Then, we have :
namber of heads =H+C+B+RK
number of legs =2H +4C + 4B + 2K
So, H+ O+ B+ K+ 69=2H +4C + 4B + 2K
or H¥C+B+K+69=4H+C + By+ 2K - 2H
Also, C=2B
C=H
H+:C+Bes 10K
H+C+B+K=50
Putting H + C + B= 10K in (), we get :
NK+689=42K-2H or 31K-2H=6% or 2H=31K-69
Putting H+ C + B= 10K in (¢}, we get 11K =50 ar K<5,
Thus, K=1, 2, 3 or 4

..y
B
o biEE}
P 1))
LA
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Arithmetical Reasoning 47

28, (eh :

7. (b):

28, (n):

29, ic) :

30. (B} :

3. (d) -

82, (b)) :

33. (b} :

Pulting K = 1 or 2, we get negative valuea of H, which is not possible.
Putting K = 4, we get fractional value of H, which is also not possible.
FPutting K =3, we get : H= 12,

8o, C=H=12.

Let the total number of workers be x. Then,

number of women -% and number of men n%-
1 .

a 72" 38" 18

3 B
a

Men having children =:—:'; of 3 of

Warkers having children = [— o

Women having children =2 ol o

: : Fr) lix
Waorkers having no children = Lx - ﬁ] =18

11
"8 of all workers.

Let the number of correct answers be x.
Nu.m.ber of incorrect answers = (76 - x).
-(T5-z)=126 or Bx=200 or z=40.
l'.‘.anduialeu failed in Social Sciences only {91 m
= {Candidates failed in Social Sciences) — (Candidates failed in all t.he subjects
+ Candidates passed in Science onlv + Candhdates passed in Maths only)
= 175 = (B0 + B2 + 48) = 176 = 160 = 15.
Candidates failed in one subject only I
= {Total number of candidates) - fCandrdnm passed in all the subjects
+ Candidates failed in all the subjects + Candidates passed in one subject only)
=450 - (167 + 60 + 62 + 458 + 52)
= 450 - 389 = 6]1.
Candidates failed in Science only = 191 - (B2 - 60 + 48) = 21.
Candidates failed in Social Sciences only = 15
- Candidates passed in Maths and at least one more subject = {21 + 15 + 167) = 203
Candidates failed in two subjects anly
= Candidates passed in one subject only
=62 + 48 + 52 = 162
Candidates passed at least in one subject
= (Candidates passed in only 1 subject) + (Candidates passed in only 2 subjects)
+ (Candidates passed in all the subjects)
= (Candidates failed in only 2 subjects) + (Candidates failed in only 1 subject)
+ {Candidates passed in all the subjects}
= 162 + 61 + 167 = 3G,
Cledrly, we have ;
A=3B LAi C-4=2A-4) L)
Also, A+4=31 or A=31-4=27
Putting A = 27 in (i), we get : B= 9,
Putting A = 27 in (i), we get : C =50,
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34. (a):

35. (d) :

wwwW.entranceexams.io

Let the father's age be x and the son's age be y. Then,
Xx=y=y or xuly
Now, x=36. S0. 2y =36 or v=18.
. Son's present age = 18 years.
So, son's ape 5 vears ago = 13 vears.
Lat the davghter's age be x. Then, father's age = 3x.
Mother's age = 3xr ~ 9; Son's age mx + 7.
-9

8o, rh M= o SrsldmBr-0 or x=28.

a6, (b) :

%T. {ex)

38, (b) :

40. (b) :

4l. {a):

: Let the total number of people be 100.

2
. Mother's age = (3¢ - 9) = (69 - 9) = 60 years.
Let son's age be x. Then, father's age = 3z,
Five years ago, father's age = 3x - 5 and son's age =x - 5.
Bo, 3x-5=4(x-5) or Ix-5=dr-20 or x=15
When Ravi's brother was born,
let Ravi's father's age = » and mother's age =y,
Then, sister's age =x-28=4 je. =32
Rayi's age = v - 26.
Age of Ravi's brother =y - 26 + 3 =¥ - 23, .
Now, when Ravi's brother was born, his age =0, ie. y-23=0 or y=23
When Rahul was born,
his brother's age = 6 years; . "
his father's age = (6 + 33yyosarE 38 years;
his mother's age = {38 — 3) years = 36 years;

his sister's age = (35 - 25)'vears = 10 years.

Let circle X represent people who watched
television and Y represent people who read

Jt‘.:'

newspaper.
Then, A+ B=65 B+C=40, B=25
Solving, we get : A=40, B=25, C=15,
. Number of persons who neither watched television nor read newspaper
=100 - (A + B + C) = 100 - {40 + 25 + 15)
=100 - B0 = 20,
S0, required percentage = 20%.

Let circles F and E represent people who
read French and English respectively.

F E
Now, (P+Q+R)+3=15 or P+Q+R=12 .00 (@h
Also, P+Q=7, Q+R=8.
3

Adding, we get : P+2Q + R= 15 L MiEY

Subtracting (i) from (i), we get Q= 3.
~.. Number of people who read French and English both = 3.
Let circles E and H represent students who

can speak English and Hindi respoctively. E H
Number of students who can speak hoth

English and Hindi =Y = 10. (0’
Mumber of atudents who can speak

nglish =X + ¥ =21,

#te: The Information Provided Bere i3 9n0lv Tor referenceE. Tt may vwarp—the :?ri;l'..l'..ai
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